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2012EE 206 LBHSIH, IIEISEEN DEE ~ 2LE
2N D8S
HE: F0l @Y BHO S2(DHE)
ool EOIMESY (S5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
n8E 503,672 482,584 21,088
=0 #N Bo T2(DHE) 80,512 89,302 £8,790
ZoME2Y 80,512 89,302 £8,790
SUIE X 64,320 73,230 £8,910
301 B A2 64,320 73,230 £8,910
0565 2 HEESEYI 64,320 73,230 28,910
| SZ+gUBSY) 62,320
o Jl2ad 200,0002 192 * 122 45,600
L. 4013 200, 000! * 198 %25 7,600
Ch. SlSI&A4Y  20,0008+192 23]« 128 9,120
2. BIEaT 25,0002 4024 *23] 2,000
FORAMETIR Y 2o 13,296 13,296 0
201 YBr2 | 13,296 13,296 0
01 AR 22l 13,296 13,296 0
(Lur2gY|) 1,440
1. FOIXEMESYY] 120,000 * 122 1,440
(Ol &= 2) 1,440, 00024 *~10% A 144
(2g+g) 12,000
1. FEORAIME DAL 12,000
b AEEUA 25,0002 *8A| 24+ 122 2,400
L. Jtena 25,0002 *8A| 24+ 122 2,400
Ch =% ma 25,0002 *8A| 24+ 122 2,400
2. 220l 25,0002 *8A| 24+ 122 2,400
O JIZBHE 25,0002 *8A| 24+ 122 2,400
BAS TR E 2,896 2,776 120
307 212+01 & 2,896 2,776 120
05 QIR I3 2,896 2,776 120
I RoFYIREL+4E 208, 0002 *122 2,496
2. BAFIIGHGBL4E
200,000%! * 17§ 4 23] 400
HHeAHY (DL S) 423,160 393,282 29,878
oz 2y 368, 756 332,808 35,948
TEE 368,756 332,808 35,948
101 Q1248 355,076 319, 128 35,948
01 24 355,076 319, 128 35,948
(=22) 244,537
1. 52(305 %) 3,698,2002 12+ 122 44,379
2. 63(285%) 3,175,800 » 12+ 122 38,110
3. 73(205%) 2,612,6002 *32) +122 94,054
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fA DdS
Y HE2HAH(DHS)
ool QE 2| (9 E2
S E O (EH) - MBAIY - B Of o e Hl R =2
4. 82 (78 8) 1,659,000 *3H 123 59,724
5. MLIH&HI 236,267,000& *3.5% 8,270
(A0=¢) 34,813
1. 32 6,034
b 42UR(053)
3,698,200& x1H 4 1%+ 12& 1,820
L. 52 UHR (285 )
3,175,800& 1H 4 1%+ 12& 1,563
Ct. 6= (2258)
2,693,800 x2F x4, 1%+ 123 2,651
2. 3224 244,537,000& *1/12 20,379
3. E2EHIt3 8,400
Jb. 25 0] & 130,000& x3F «12& 4,680
Lt. 153 014-20E0(12F 80,000+ 2E +12& 1,920
Ct. 530/ &4-104012F 50,0003 «3E +12& 1,800
(MHAHABEESH) 5,880
1. JIE==Y 5,880
Jb. X 40,0003 +x7H+12& 3,360
Lt JIERDES 20,0003 x9¥ 122 2,160
Ch. DS (AWM XA Ol A
30,0003 x1H«12& 360
(E222Y) 7,320
1.€=82Y 7,320
. 22 70,0003 x7E+12& 5,880
Lt. oI 30,000 x2F 12 720
Ct. AlISXIgS2Y 30,0003 +x1Ex12& 360
ct. ARRISXNZE R0t E
30,0003 x1H«12& 360
(Z222) 25,592
1A 222 8,078&*33AI2t+8FH «12& 25,592
(AHI2AS) 36,934
1. ZHZ A 130,000 *8H » 123 12,480
2. SESFI 244,537,000 %1.2/12 24,454
204 R 928 2 H| 13,680 13,680 0
02 g 22| 13,680 13,680 0
1. A2 EXH| 13,680
ot 53 250,000 x1H «12& 3,000
Lt. 62 155,000 *1Z 123 1,860
Ct. 72 140,000 *3Z » 123 5,040
ct. 8-9= 105,000 3 12 3,780
=2 54,404 60,474 A6,070
Jl2Z | 54,404 60,474 26,070




SH: DES
DU WEeUAY (DAE)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 et A | 22,024 21,874 150
01 AR 2t eld| 10,480 10,769 A 289
(get=2dl) 9,115
1. 242l 300,000& 8% 2,400
2. HHIZLRMNEES 100,000& «12& 1,200
3. FUSESZ2LEEX 27,0003 «152 A 405
4. QIZSHENLY=EX 64,0003 x5 A 320
5. Z2HEH 170,000 & 401 «53] 3,400
6. SAIIEH 130,000& 1 CH 53] 650
7. BAHESIIEY 100, 000& * 1 CH*53] 500
8. e1&JIel=2 20,0002 x1CH+12& 240
(294+9) 500
1. YENsy 50,0001 * 12 +102 500
(Szl) 3,360
1. Jl2geassSagAY)
7,000& 541 +8H 12 3,360
(ol &) 12,475,000% *-20% A2,495
02 2324l 11,544 11,105 439
(ES23LHA) 11,320
1. REZ 2,040
Jb. et 2503 «5024 + 128 150
L. 391 1, 7503 9021« 128 1,890
2. 8dJl= 700,000& *12& 8,400
3. d.otr=ER=s 50,000& 123 600
4. BHAMNERE S 40,000& 23] 80
5. 88t x+=8 200,000& *13] 200
(A2 & Hl s Xdl) 1,506
1. d==JI 50,000& »2CH *43] 400
2. &S A 100,000 = 1CH 100
3. SIS QAIAHE FIIE =
12,100& «12& 146
4. NSAMAAE RS2 U]
30,000& 123 360
5. AHA2 500, 000& 500
(ol arE2) 12,826,000& *»—10% AN1,282
202 44| 20,160 24,480 24,320
01 2Ll 4,320 5,760 A1,440
1. 2L 20,0003 9 »2H x 123 4,320
02 A0 15,840 18,720 22,880
1. A0 220,000 x6H 12 15,840
203 R =2 9,920 9,920 0
01 J|22d P RF=8H 6,600 6,600 0
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SN
X XH .
S Tt

el

02

_ _ MEc
CER(B) - MIRAY - BA S il b o =
709, 143 701,660 7,483
a24s) 130,546 144,436 £13,890
130,546 144,436 £13,890
116,750 130,640 £13,890
2 116,750 130,640 13,890
EEEERE 116,750 130,640 213,890
ST 114,800
24y 200, 0002 +3524+ 122 84,000
012 200, 0002 353 x23| 14,000
oIFA4AY 20,0008 353 23]« 128 16,800
sg 25,0002 +39% x23] 1,950
EEWETL 10,896 10,896 0
bl 0,896 0,896 0
ol 10,896 10,896 0
) 1,440
FOITX ME 2 20,0002 122 1,440
ol &2t 1,440, 0002 *~10% A 144
(2y+g) 9,600
I, FOIRIIME SAST 9,600
S SE 25,0002 +8AI 2t 12 2,400
e 25,0002 +8A| 2+ 122 2,400
AmEUA 25,0002 +BA| 2+ 122 2,400
. 2% 25,0002 +BA| 2+ 122 2,400
2,900 2,900 0
2,900 2,900 0
2 2,900 2,900 0
=EEE 220,000% * 122 2,640
BRIV
130,000 #1722 +23] 260
=) 578,597 557,224 21,373
50,713 478,770 26,943
505,713 478,770 26,943
485,133 459,030 26,103
485,133 459,030 26, 103
332,815
53 (305 2) 3,608,200 1% +128 44,379
63 (255 2) 3,083, 1002 +2% + 128 73,99
L 72(922) 1,992, 900! *5% * 122 119,574
. 83 (62 2) 1,588, 500212 » 128 19,062
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SN HES
mu: WEeAY (ZLE)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
5. 92(2& =) 1,176,800& x1E 123 14,122
6. JIs7=(2658) 2,835,100 1 »12& 34,022
7. JIs93 (55 8) 1,367, 1003 x1Z*12& 16,406
8. MIM&HI 321,560,000 *3.5% 11,255
(&0i=¢) 41,889
1. 32+ 3,354
It 42U (305 8)
3,698,200 x1H *4. 1% 128 1,820
Lt. 52U (265 S)
3,116,900 x 1G »4 1%+ 12& 1,534
2. 824 332,815,000 *1/12 27,735
3. E2=Eotet3 10,800
Jb. 2538014 130,000& x4 H 122 6,240
Lt. 102 014-15E 012t 60,000 «3H+12& 2,160
Ct. 5301 4-104012  50,000&+4H«12& 2,400
OHHEE=Y) 7,560
1 oiEag 7,560
Jb. B A 40,000 x8H x12& 3,840
Lt JIEFDES 20,0003 x14E « 1228 3,360
Ct. D& (AR XHA Ol &)
30,000 x1H «12& 360
(E222¢) 12,480
1. S=ARE 12,480
. s22=H 70,0003 *11E«12& 9,240
Lt QIAARG 30,0002 x4H 122 1,440
Ch. At2IZXER==E 30,0002 *3E 128 1,080
ch. AlRIZXEREotA3
30,000 x2H 128 720
(2222 38,387
1LAIRIRAZ R 8,078R«33AI2Hx12H <128 38,387
(AHI24E) 52,002
1. ZHZ A 130,000& «12F »12& 18,720
2. SESIH 332,815,000&*1.2/12 33,282
204 M 2= HH| 20,580 19,740 840
02 =2 2| 20,580 19,740 840
1. Ag2 x| 20,580
Jb. 538 250,000& x1H~12& 3,000
Lt. 62 155,000& x2H 122 3,720
Ct. 72 140,000 x6H 12 10,080
ct. 8-9= 105,000& *3H 12 3,780
Jl2&Hl 72,884 78,454 25,570
Jl2& | 72,884 78,454 25,570
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SN EMHE
HH: SN AR (HAS)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
5. 92(2&83) 1,176,800& » 12+ 123 14,122
6. MSIH&HI 228,118,000 *3. 5% 7,985
(&0 =¢) 29,608
1. RsFEE 2,852
58U (325S)
3,270,700x1F %4 1%* 12 1,610
L.e2UR(1853)
2,523,000% 1 x4 1%x 12 1,242
2. d2=¢ 236,103,000 *1/12 19,676
3. d2=+gJtit= 7,080
Jb. 25401 & 130,000 «2EH »12& 3,120
L. 158 0[4~20E 012 80,0002 x 18«12 960
Ct. 5801a~10&8012F  50,000& x5 12 3,000
(OHHEA =) 2,880
1. JtE=8& 2,880
Jb. BRI 40,000 *4H x 128 1,920
Lt JIEHHS 20,0003 «4EH =128 960
(S§+=22=Y) 8,160
1.5+822¢ 8,160
. =22+ 70,000 x8H *12& 6,720
L. QIEgesE 30,000 x2H x12& 720
Ch. Al2I=XE2+=g 30,0008 18 *122 360
ch. ARSI Rt =2
30,000 x1H*12& 360
(Zn22=¢) 28,790
1AIZERI2824E  8,0783x33AI 2t+0E +12& 28,790
(AHI24S) 37,651
1. 3NG4 130,000& 9E x12& 14,040
2. SEFJH 236,103,000&%1.2/12 23,611
204 MR AL 14,520 14,520 0
02 g2 &4 14,520 14,520 0
1. Ag2x 14,520
Jt. 55 250,000 x1E *12& 3,000
L. 65 155,000 x1E + 128 1,860
Ct. 72 140,000& »2E 12& 3,360
ct. 82 105,000& »4H «12& 5,040
Ot. 92 105,000& ~1E 123 1,260
o= | 54,110 58,195 ~4,085
Jl=&Hl 54,110 58,195 A4,085
201 LEr2 Y| 19,050 18,135 915
01 A2 2telH] 9,355 9,369 A4
(Let=~=&Hl) 7,288

_10_




SN EMHE
HH: SN2 AAY(HAS)
el JlE3sl (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
1. 2M2E =24 300,000& »9& 2,700
2.0l ZEREMEES 100,000& »12& 1,200
J.UOIMEEE EH/EY
180, 000& ~4 0 32 2,160
4FUSESE2LTEN|
27,0002 * 1B0X* 122 324
5.0YEHNLIBS LB
64,0002 *1BOX+6E 384
g.2l&Jlel= 20,0002 *1CH6E 120
7.0 (SM HAM) 25 0008 20K *23] 100
8. HAE 100,000 *1CH+32! 300
(2g+g) 500
lYmxay 50,0002 1% %10 500
(2 3,780
IBE=EES T N
7,0003 «541x9H *12& 3,780
(Ol&HE ) 11,068,000& *—20% N2,213
02 3244 9,695 8,766 929
(B32= 2 HMA) 6,124
1.288 2,256
Jb. et 2503 *10024 * 12 »80% 240
L. S 1,750 3 «12024 * 122 +80% 2,016
2. 8712 350,000 * 122 »80% 3,360
3.4t 30,0003 »12& »80% 288
4. S3F3NERE=S 40,000& *22] 80
5.3t a2 140,000 *12] 140
(¢ =Hl) 2,016
AR A 1,500 *4 £ *6 Al 2+ 80 *70% 2,016
(NEEHlI=X8l) 2,632
1LEMAERNES 1,400,000 1,400
2. 8JI01EXNR X2 500,000& = 1CH 500
3.8J|88 20,000 x1CH*12& 240
4. Z2URIA AR E 33,000 x4 132
5. NZAUAMAARRE
30,0003 »1CH*120H = 360
(Ol &= ) 10,772,000 *—10% A1,077
202 044l 22,800 27,600 24,800
01 2 U401t 4,320 5,760 A 1,440
1.2 Hb 20,000 x92«2H»12& 4,320
02 EA0dbl 18,480 21,840 23,360
1.2 XN 220,000 »7E«12& 18,480
203 @R =2 9,960 9,960 0
01 J|22d Y24 6,600 6,600 0
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SN

M o £2(H
ool SRR
_ _ HE T
ZM . ERA(ZA) - NFAY - BES Ol A o8 o
FS 632,385 555,624 76,761
= T2 (EL2E) 90,816 91,816 A1,000
90,816 91,816 A1,000
74,660 75,660 A1,000
o3 74,660 75,660 A1,000
U A E S 74,660 75,660 A1,000
RN 72,160
Jlzay 200,008 20 * 122 52,800
R 200,002 %2224 x23] 8,800
BIOIEAAGD 20,0002 223 +25] x 128 10,560
s 25,0008 %5024 x23] 2,500
T2y 2 13,296 13,296 0
29| 13,296 13,296 0
21| 13,296 13,296 0
4 8Hl) 1,440
01X XI 4 Ef 2 2 ] 120,0002 ¥ 122 1,440
Ol A E 2) 1,440,000 *~10% A144
(2g4+g) 12,000
1 RXI M S AL 12,000
b 2AEE DA 25,0002+ 12A| 2++128 3,600
L 2B E mal( 25,0002 * 1241 2++122 3,600
CHESDA(A) 25,0008 *8A| 2++122 2,400
2t Z2mal(B) 25,0008 *8A| 2++122 2,400
22| 2,860 2,860 0
307 212H0| | 2,860 2,860 0
05 I2teIEr 2 2,860 2,860 0
IEEERTETE RS 20,0002 *122 2,640
2HAMEINHHN G S22
10,0002 %17} 4 x23] 220
e =) 541,569 463,808 77,761
478,919 401,459 77,460
478,919 401,459 77,460
460,619 386,519 74,100
460,619 386,519 74,100
315,999
52 (305 2) 3,608, 2002 * 12 +122 44,379
62(2552) 3,083, 1002 *124+122 36,998
L 72(1552) 2,369,900 *52 +122 142,194
. 82(622) 1,588, 5002 %22 *122 38, 124
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SN A NS

HE: #N2AAY(HM2S)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
5. 92(683) 1,367, 100& x 12+ 123 16,406
6. J1s8=(1888) 2,267,600 x 112 27,212
7. MSIH&HI 305,313,000 *3. 5% 10,686
(401%) 41,018
1. B2 5,204
O 58U (2565S)
3,083, 1002 x 18 4 1%+ 122 1,517
Lt. 62U (205 E)
2,612,600 x2&H x4 1%+ 12 2,571
C. JIs72U<=(1853)
2,267,600 x 18 +4 1%+12E 1,116
2. d2=¢ 315,999,000 x1/12 26,334
3. d2=gitt= 9,480
Jb. 254014 130,000 «3EH »12& 4,680
L. 158 0[4~20E 012 80,000 x3& ~ 12 2,880
Ct. 10890]&~154012F 60,0002 x1H 122 720
ct. 5801 &~108012F  50,000& x2F 128 1,200
(OHHEA =) 9,814
1. JtE=8& 6,240
Jb. BRI 40,0003 «6EH =122 2,880
Lt JIEHHS 20,0002 x14H « 123 3,360
2. MHSHIEX+E 3,574
Jb. 1SSt 446, 7003 »2& 47| 3,574
(Ex=22=¢) 9,840
I S+E2ay 9,840
. S22+ 70,0003 x10E *12& 8,400
L. QIR E 30,000 «2E «12& 720
Ch. At2I=XER=2 30,000 *1& 122 360
ch. Al S X R=Eotets
30,0003 «12 122 360
(Z2R=E) 35,188
1LAIZLAZ S+ 8,078 *33AI 211 x12E 35,188
(AHI24AS) 48,760
1. dHZ A 130,000 «11H 128 17,160
2. 25| 315,999,000&+1.2/12 31,600
204 MR A Y| 18,300 14,940 3,360
02 2 g2 &4 18,300 14,940 3,360
1. 482X 18,300
Jt. 52 250,000 x 18« 128 3,000
L. 62 155,000& »1E 123 1,860
Ct. 7= 140,000 x5 »12& 8,400
ct. 895 105,000 x4E *12& 5,040
DIl 62,650 62,349 301
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SN EE

B HH2H AL (HM2S)

&t D=3l (el &)
S HE - S(EH) - NRAY - BES sk oy e 2
Jl=&Hl 62,650 62,349 301

201 get2Ad| 22,310 20,739 1,571
01 A2 2t 2ldl 11,051 10,344 707
(get=gHl) 8,568
1. 22 =2l 300,000& 11 3,300
2.0BI2SRAIRES 100,000& «12& 1,200
3.213012l= 20,0003 4 =12& 960
4. UI0IMEH 150, 0002 *4CH *33] *80% 1,440
5.dl0ldE" 150, 000& *4LH 22| *80% 960
6.xUSES==2L=EN 27,0003 = 12Box 324
7.0022SENELESEESEA 64,000 +6Box 384
(2e+g) 500
IEEEES= 50,0002 * 12102 500
(2H) 4,620
ISCEEESTEEE W
7,000 «54l«11H 128 4,620
(Ol arE 2t) 13,188,000 & *~20% A2,637
02 2324l 11,259 10,395 864
(2223LHA 8,168
1.282 2,568
Jb. et 2503 10024« 128 300
Lt. S 1,750 12021 » 122 *90% 2,268
2. 8012 450,000 » 122 «90% 4,860
3. 40t 40,0003 x12& 480
4. SEMERES 50,000& *23l 100
5882 a2 200,000& 13! *80% 160
(¢d=2dl) 1,760
1 AR 2 1,100& %5 £ *5A| 2tx80 +80% 1,760
(NEZHIR X 2,581
1.EMAS 1,273,000& 1,273
2.2AE S 100, 0002 = 1CH 100
3.2el=0l SANE=H 12,100&+128 146
4. 2= 50, 000% *3CH 150
5.0157] 200, 0003 1CH 200
6. KNI 2AMAIAE R E=H 33,000&+12& 396
7.5 2eldl 25,000& »43] 100
8.8=J| &eldl 20,0003 » 123 x90% 216
(Ol &HE2E) 12,509, 000& *—10% A 1,250
202 44l 28,080 27,600 480
01 =2 A bl 4,320 5,760 A 1,440
1. =2 WAl 20,0003 x9L «2H »12& 4,320
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2A: EA3S
Mo E0 B Bo (3
Crol FOIME 29 CLE-LE
S BB (EH) - NEAY - BAS e HInE
B A3S 712,096 625,074 87,022
F0l Y HO T Z(EAS 130, 100 126,890 3,210
=0MEH 29 130, 100 126,890 3,210
s.68t&E X& 93,740 95,990 A2,250
301 B AF 93,740 95,990 A2,250
058 -2l -etEEs 93,740 95,990 A2,250
.88 ¢ & 91,840
o= 200,000& 28 x12& 67,200
L. &2 200,000& x28Y x23| 11,200
Ct.3|o| &&= 20,0003 »28Y 23|« 12& 13,440
2.9t & E 25,0003 x38H 23| 1,900
FORMEE2OY 2 33,420 28,020 5,400
201 L2 IH| 30,420 28,020 2,400
01 AtR22tel bl 30,420 28,020 2,400
(Let=EHl) 1,800
1. =X HEH 2 150,000& = 12& 1,800
(olarE2) 1,800,000& *-10% A180
(28+4) 28,800
1. =0 AKX AE 28,800
b AL 25,000& *8A| 2t 12 2,400
Lt A 25,0003 x8A| 2+ 12& 2,400
Ctotena 25,000& *8A| 2t 12& 2,400
chIIBHME 25,0003 *x8A| 2+ 12& 2,400
OF. A ol 8t 25,000& *8A| 2tx 12 2,400
Ht. Z220|8t 25,000& *8A| 2t 12 2,400
AL CHE R A 25,0002 *8A| 2t 12 2,400
O &Y= 25,0003 x8A| 2h+12& 2,400
i.e2s 25,000& *8A| 2t 12& 2,400
Xk It 25,0003 *8A| 2t 12& 2,400
ot E=A 25,0003 *8A| 2t 12 2,400
El.O2tZ 2 ) &4 25,000& *8A| 2t 12& 2,400
405 RtakFE =S| 3,000 0 3,000
01 ARt 2 S H S| 3,000 0 3,000
1. 2201 & 3,000,000 =14 3,000
A= X 2el 2,940 2,880 60
307 2120 & 2,940 2,880 60
05 DIt E S 2,940 2,880 60
1.201&3dl 22|t 220,000& 128 2,640
2.8 AIE DA TH
150, 0002 *1JH 2 *23| 300

_17_




SA: BARS

B #ES A (M MIE)
ool QE 2| (e E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
HY2A U (AA3S) 581,996 498, 184 83,812
ol 2| 509,482 419,989 89,493
ol 2| 509,482 419,989 89,493
101 eI24d| 489,142 401,929 87,213
01 2= 489,142 401,929 87,213
(83) 340,873
1. 53(30&8) 3,698,200& x1H «12& 44,379
2. 62 (245 8) 3,047,300& x3F «12& 109,703
3. 72(1088) 2,062,800 x4 H «12& 99,015
4. 83(653) 1,5688,500& x4H x12& 76,248
5. M<IN&HI 329,345,000 *3.5% 11,528
(40H) 37,647
1. 32=¢ 340,873,000& *1/12 28,407
2. 32=Got= 9,240
Jb. 253 0] & 130,000& x2F » 123 3,120
Lt. 20140 4~251 01 8t
110,000 »2H «12& 2,640
Ct. 153 014~20=0(12F  80,000&«1H+12& 960
ct. 10201 &~15E0(12F 60,0003 «1E+12& 720
Of. 5301 &4~104012F 50,0003 «3E +12& 1,800
(HHEX ) 8,027
1. JIE=¢ 6,240
Jb. X 40,0003 x99 +12& 4,320
Lt JIERES 20,0003 x8F +12& 1,920
2. AHEHIE XL 1,787
b, DS 446,700 »1Z *47| 1,787
(S+2244) 11,400
1.SaA2ag 11,400
o s224g 70,0002 1124 128 9,240
L. ooy 30,0002 x32 <122 1,080
Ct. Al3ISXIER=Y  30,000&+2Z+12& 720
ct. ALSIZX SRt =
30,0003 x1E*12& 360
(Zo2 254 38,387
1T A2 RS 8,078&*33AI2tx 12 «12& 38,387
(AHI2AS) 52,808
1. dMUZ A 130,000& *12F 123 18,720
2. BESIH 340,873,000& *1.2/12 34,088
204 R R4S A Y| 20,340 18,060 2,280
02 =22l 20,340 18,060 2,280
(M2 2 xdl) 20,340
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SN HM3E
HH: SN2 AAY(HMIS)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
. 55 250,000 x 18« 128 3,000
L. 62 155,000& »3E x12& 5,580
Ct. 7= 140,000& ~4E « 123 6,720
ct. 8~9= 105,000 42 »12& 5,040
Jl=2&Hl 72,514 78,195 A5,681
JI=238l 72,514 78,195 A5,681
201 Zegr24 28,724 27,495 1,229
01 At 22l 13,240 12,623 617
(ger=~=&Hl) 10,885
1. 2M2E =S4 300,000& 12 3,600
2.02SENEZSEX 64,0003 158t A 960
J.FUSESE=ZEN 27,0003 258 A 675
4.0l EH 100, 000& ~4CH x4 2| 1,600
5.dl0ldEd 130, 000& ~4CH 32 1,560
6.e1&57Iel= 20,0003 =204~ 12& 480
7BAEL 90,0003 »1CH*43 360
8.2 AHIEH 150,000& =104 =32 450
9.0 ZEREMEES 100,000& =12 1,200
(2g49) 500
IR 50,0002 * 12102 500
EELI 5,040
ISCEEESTEE W
7,000 x541x 12E 128 5,040
(olar=2) 15,925, 000& *—20% ~3,185
02 32244 15,484 14,872 612
(2223 ¢ HAl) 14,898
1.282 3,810
Jb.edgt 2502 *150244 x 128 450
L. S2I 1,750& 1604 <123 3,360
2.8JI2= 750,000& 123 9,000
3.4ot=8 80,000& x12& 960
4 SIMERE= 60, 000& *23] 120
5.8t xE A2 300,000& *13! 300
6.QEUAES 15,0003 *=2CH«12& 360
7.H0ISTVAIER 7,000 1CH«12& 84
8. 8= 2yl 66,0003 *1CH*x4=2 | 264
(A& EBI= Xl 2,306
1.E3AA SR EH| 1,500,000& 1,500
2.BAMESEDI 100, 0003 * 1CH 100
3.7 50,000& *2CH 100
4. HELSHHI 100,000 *1CH 100

_19_




S BA3S
M #HSAAH (FNIS)
e D23l (&9 ®M
_ _ _ SN E N
2N -3 - c2(3H) - NEME - HES Of] AF2H oﬁf@ Hl =2
5.2 015t0l A| Al 12,1002 128 146
6. K SQIAAAE X2 2H|
30,000 «1JH*122 360
(Ol AFE2H) 17,204,000 «—10% A1,720
202 04 H| 30,240 33,600 13,360
01 2ol 6,480 8,640 A2, 160
.20 20,0002 x0U «3% » 122 6,480
02 2 M0iH| 23,760 24,960 A 1,200
1.2H0H| 220,000 9% « 122 23,760
203 P 22| 10,000 10,000 0
01 J|22H AR =ZAH 6,600 6,600 0
1| 222 =X 6,600,000 1 6,600
02 HRAIPAH B =Y 400 400 0
1.3 RFAH| 40,000& x10H 400
04 BA2H AR =ZAH 3,000 3,000 0
1.EN2IL2 Y| 250,000 122 3,000
204 X2 HAH| 1,800 1,800 0
01 2 ZH D24 1,800 1,800 0
1. 23 A2 =X 1,800
DIER==PS, 150,000 x1H *12€ 1,800
405 XFAHE SHI 1,750 5,300 23,550
01 AHAHY 2 EF SH| 1,750 5,300 23,550
1.ARE9 Xt 170,000 *5H4 850
2.2 2tH0IMERIED) 900,000 *1CH 900
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2N LS
I 0 Wy Ho SR (=AS)
gl FodE2Y (&
< _ - HAac
SN -3 S2ARAH) - MFAY - BES Ol &F 8 Ol Ak O BlusZ
LES 748,747 651,952 96,795
=0 3y He E2(L3S) 147,710 167,760 220,050
FAUNEHEGE 147,710 167,760 A20,050
s.¢8 N 116,650 136,700 220,050
301 LEEHS 116,650 136,700 A20,050
05&-cl-eE3es24s 116,650 136,700 A20,050
1.88+¢ & st 114,800
=g 200,000 »35& 122 84,000
Lh. &0 = 200,000 358 23] 14,000
Ch.&s+¢ 20,0003 *36E #22| 12& 16,800
2.9t&3 4 25,0003 »37& =23] 1,850
FAUNXHHEZ DS 2F 28,020 28,020 0
201 Yer2 gl 28,020 28,020 0
01 At22t2ltl 28,020 28,020 0
(eer2gl) 1,800
1.2 XA ME 2 S 150,000 * 128 1,800
(olatE2) 1,800,000% *=10% A180
(2g9+9) 26,400
1.FUNXAE A= 26,400
b.=%ud 25,0002 *BAl 2tx 123 2,400
Lh AOwal 25,0002 *BAI 2t+20H 4 %128 4,800
Ctoteuwsa 25,0002 *BA| 2k+20 2 %122 4,800
O AZXEA 25,0002 =BAl 2tx 123 2,400
gt 2Jtuw 4 25,0003 *BA| 2H+201 2=+ 122 4,800
Abgt=0lund 25,0002 *BAl 2tx12E 2,400
Oh.&7ud 25,0002 *BAl 2tx 123 2,400
L FEEHYnA 25,0002 *BAI 2t x 128 2,400
AR 2e 3,040 3,040 0
307 2l2told 3,040 3,040 0
05 QIZtRI& 2 3,040 3,040 0
1.2 Zd2eltd =2 230,000 «12& 2,760
2 BANHIIHHUE 2
140,0002 * 17K 2= %23 280
HY2IIH(ES) 601,037 484,192 116,845
elg2g 523,932 410,763 113,169
eIEE2d 523,932 410,763 113,169
101 el214| 503,172 393,123 110,049
012+ 503,172 393,123 110,049
(2) 348,783
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2N LS
B WA (BE)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
1. 53(30&8) 3,698,200 x1H x12& 44,379
2. 62 (245 8) 3,047,300& x3H «12& 109,703
3. 723128 8) 2,193,500 x5 H «12& 131,610
4. 82 (58 ) 1,518,500& x2H x12& 36,444
5. 923%8) 1,237,600& x1H 12& 14,852
6. X<IH&HI 336,988,000 *3.5% 11,795
(40H) 39,389
1. 3= 1,563
It 53U (285 8)
3,175,800& 1H 4 1%+ 12& 1,563
2. d2=¢ 348,783,000& *1/12 29,066
3. 2= ot= 8,760
Jb. 2548014 130,000& x2F 123 3,120
Lt. 2030l &~25E 0] 2t
110,000 »2H « 122 2,640
Ct. 15301 4~20E0(12F  80,000&«1H+12& 960
ct. 103201 &~15E0(12F 60,0003 +2Z «12& 1,440
Of. 530l &4~104012F 50,0003 «1E+12& 600
(OtHER ) 11,254
1. &5 7,680
Jb. BH=S X 40,0003 x6Z +12& 2,880
Lt. JIERFS 20,0003 *17Z«12& 4,080
Ch. DS (AWM XA Ol A
30,0003 x2H*12& 720
2. AHEHIEEE 3,574
Jb, NSEH 446,700 »2Z *47| 3,574
(Sx=22=2Y) 11,760
1. S8 11,760
ot S2RY 70,0003 *11H«12& 9,240
Lt DIAARG 30,0003 x2E*12& 720
Ct. At3IZ2 X222 30,0002 +3H«128 1,080
ct. ALSIZ2X R0tz
30,0003 x2E*12& 720
(Zo22+4) 38,387
T.AIZte 222 8,078 *33AI2H+ 12« 123 38,387
(AHI2&S) 53,599
1. dMHZ A 130,000 *12¥ 123 18,720
2. BESIH 348,783,000& *1.2/12 34,879
204 AR =AY 20,760 17,640 3,120
02 22Xl 20,760 17,640 3,120
1. &=2=xl 20,760
Jb. 53 250,000 x1E «12& 3,000
Lt. 6= 155,000 3 12 5,580
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2N LS
M W2 (L AE)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Ct. 72 140,000& »5E x12& 8,400
ct. 8~9= 105,000& »3E x12& 3,780
Jl2dH| 77,105 73,429 3,676
Jl=&Hl 77,105 73,429 3,676
201 B2 32,245 30,869 1,376
01 AtR2tel 13,048 12,521 527
(Let=&Hl) 10,644
1. 2K2E =8| 300,000& x12& 3,600
2.0HIZERANRES 100,000& =12 1,200
3.dI0IMEH 100, 000& »5CH *43] x70% 1,400
4.d0IMEE 130,000 & +5CH *4 3| x70% 1,820
5.2MESEIIEH 100, 000& = 1CH =22 200
6.8.=2&X 27,0003 #2885t A 756
7.2 EESS=EX 64,0003 128 A 768
9.21&0Iel= 20,0002 = 1CH+22|x12& 480
10.20EMA(SM, AHA) 25,0008 20423 100
11.SAEX 16,000 209} A 320
(29=+¢) 500
.98 50,000 «1& 10 500
(S&l) 5,040
102 R+dS2 =54
7,000 x541x 12E 128 5,040
(Ol &= ) 15,684, 0002 *—20% AN3,136
02 38&4H 19,197 18,348 849
(2323 < HA) 17,510
1.288 4,230
Jb. et 2503 x1504 x 123 450
L. S2I 1,750& 18021 x12& 3,780
2. 8712 1,200,000 =12 %80% 11,520
3.4 .02 60, 000& =12 x80% 576
4. BANERLS(ANEER) 50,000& *22] 100
5. 2lHAAMER 30,000& x12& 360
6.0 ETVAIEZ 7,000& 12 84
7. 833X A2 175,000& 12 175
8.X&E2E 350
. SEEIE 300,000& »1CH* 13 300
Lt.OIE Xt 50,0002 x1CH*13] 50
9.8J|B MR 55,0002 »1CH =13l 55
10. 82N RES(SHEX )
30,0002 x1CH*13] 30
NASIHAM(SHERE) 30,0008 *1CH*13] 30
(NEEHlI=XHl) 3,820
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SH MRS
Mo F0l #E HO TP (MAIS)

ool ZoIME 2 (el a2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
MH1s 671,365 647,546 23,819
F0l MY HOl S 2(AA1S) 113,456 115,210 AN1,754
FoHHE2Y 113,456 115,210 AN1,754

SEHEXJ 94,060 96,510 A 2,450
301 Et2 a3z 94,060 96,510 22,450

05 S-cl-gtEaEssEas 94,060 96,510 A2,450
.88+ &« 23| 88,560
JlE= 200,000 *278 123 64,800
A3 200,000& 27 H 23| 10,800
2o 20,0003 »27H +23| x12& 12,960
g 25,000& 110 »23] 5,500
HEZZH 17,296 16,296 1,000
23| 13,296 13,296 0
01 AR 2teld| 13,296 13,296 0
gr2l) 1,440
FOXXMEH 234l 120,000& <128 1,440
(ol atE2) 1,440,000 »—10% A144
(2g22¢) 12,000
AN 12,000
ot wa 25,0003 *8Al 2t*12& 2,400
Lh. oo 24 25,0003 *x8Al 2t*12& 2,400
Ch. Xk wmal 25,0003 *x8A| 2t+12& 2,400
ct.=2twa 25,0003 *x8A| 2t 12& 2,400
O &x2na 25,0003 *8Al 2t+12& 2,400
405 KHatE =S| 4,000 3,000 1,000
01 XA ESZH=HI 4,000 3,000 1,000
1.HIZZAH 4,000, 000& 14 4,000

At Xl 2el 2,100 2,404 A 304
307 2I2toI ™ 2,100 2,404 A 304
05 BIZtRIE 3 2,100 2,404 A 304

1.2e1Z3H =2 160,000& «12& 1,920

2. EANMI U2 90,0003 * 14 2~ %23 180
HY2AZH(&2A1S) 557,909 532,336 25,573
QA2 A 487,726 458,058 29,668
eI 2| 487,726 458,058 29,668
jelal=] 467,986 440,118 27,868
2 467,986 440,118 27,868

(22) 323,294
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SM MES
M HFRIFHI(AA1S)
cHel: ol eyl (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
1. 52(308) 3,698,200 x 1 x 122 44,379
2. 62(235) 3,009,600 »2H 128 72,231
3. 723(145 =) 2,313,900 x4 128 111,068
4. 82 (622) 1,588,500 * 1 * 12 19,062
5. 92 (55 8) 1,367,100 x4 » 12 65,621
6. MM 312,361,0002 *3.5% 10,933
(&0ia=¢) 37,015
1. RBRA+Y 1,193
It 62UR(1652)
2,423,2002 18 x4 1%x 128 1,193
2. 3244 323,294,000 *1/12 26,942
3. H2LEIM3 8,880
Jb. 25014 130,000 x2 % 122 3,120
Lt. 200l 4F 25 0| gt
110,0002 * 1« 128 1,320
Ct. 154014 20 0| et
80,0009« 2% «12& 1,920
2t. 10 0/4 15012 60,0002 *1H*128 720
OF. 54014 104012+ 50,0002 *3F *12& 1,800
OHed+Y) 5,040
1. IE2¢ 5,040
Jb. BH R 40,0002 x6Z x 128 2,880
Lb. JIEHIHS 20,0002 x9Z 128 2,160
(§4224+H) 13,200
1.€=82Y 13,200
It S224+¢ 70,0002 %11 «12& 9,240
Lt DLy 30,0002 3% 128 1,080
Ch. AlEISXIL R4S 30,0002 4 *12¢ 1,440
2t MBS XL RIS
30,0002 x4 x 128 1,440
(XA224Y) 38,387
AN2tRI2 245 8,078 *x33AI 2t 12 x 12 38,387
B4S) 51,050
HoHZAlY| 130,000 x 12 » 12 18,720
HEZOY 323,294,000 %1.2/12 32,330
LA 19,740
ZEXH| 19,740
32| 19,740
ot 53 250,000 x 12128 3,000
Lt. 62 155,000 «2% « 128 3,720
Ct. 73 140,000 x4 x 122 6,720
ct. 8.92 105,000 x5 « 12& 6,300
70,183
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SM MES
M HFRIFHI(AA1S)
cHel: J|2A| (el &)
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
J|23 70,183 74,278 A4,095
201 Lt A 25,763 24,488 1,275
01 At 22l 11,035 10,084 951
(Lereg]) 8,128
1. 22"+ 300,000 x 12 3,600
2.ORHEH 240,000 *2CH 35| *80% 1,152
3.UOINMEH/EH 240,000 *2CH*33| *80% 1,152
4. FOUSESEE2X 27,0002 *128F A#80% 260
5.OUZSHNLSER 64,0002 «62F A «80% 308
6.2AESI|2I2
90,0002 *1CH*12t A %35] *80% 216
7.0180|212 20,0002 *1CH* 128 240
8.0l ZUPAIRRE 100,000 x 128 1,200
(2g+4) 500
1.9==4g 50,0002 *1Z 102 500
(Sl) 5,040
1.0|2desssa2 3 Al
7,000& *541 x12% « 122 5,040
(Ol arE2) 13,168,000 x—20% A2,633
R S329l 14,728 14,404 324
(B222 2 HMA) 11,174
1.2E2 3,630
DICTET; 25021 x20024 * 122 %80% 480
Lt. SO 1,750 %1504 x 12 3,150
2.EARA FII2 300,000 * 122 x80% 2,880
3.FQIRXIME MII2 400,000 122 «80% 3,840
4. SNRA MNEIEER 25,0002 x 128 300
5. 8P 2E3 20,0002 *23] 40
6. 85 xXx42 100,000 %13 100
7.0EHURE2 16,0008 23| x 128 384
(A 2Hl) 1,664
1. AL2 A 1,3002 %4 £ *5A] 2tx802 %80% 1,664
(A& ZHISXH]) 3,526
1L.EARAS 2,000,000 2,000
2.2AE SO 100, 0002 *1CH 100
3. U Y S A 100, 0002 *1CH 100
4.2 50,0002 «2CH 100
5. 8% 25,0002 *6CH«62 *80% 720
6.2 QISOIAIAMKIIEAHl 12,1002 x122 146
7. RI2QAA A ST E 4 H 30,000%12& 360
(Ol atE2) 16,364,000 x~10% A1,636
202 01| 30,240 36,720 6,480
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SN A0S
M FOIMNEOE D (MALS)
ool EOIMESY (el &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 il b o B2
WEPES 584,698 503,076 81,602
ZOIMH PO T Q(AA2E) 86,706 83,406 A1,700
ZolHE 2 86,706 88,406 A1,700
S oz X 71,030 72,730 A1,700
301 B A2 71,030 72,730 A1,700
05E-2 - BIEIESFAD 71,080 72,730 A1,700
. EZ+Y ¥ 2| 68,880
holRay 200, 0002 *2124*122 50,400
L. &012 200, 0002 #2124 %23 8,400
ChBIOEAAY 20,0008 %212 %25 %128 10,080
2. U E AT 25,0002 *432 x23] 2,150
ZONHMHIZ Y 29 13,296 13,296 0
201 YBr2 | 13,296 13,296 0
01 At 22| b 13,296 13,296 0
(Lursyl) 1,440
1. ZOIXXIME £ Bl 120,000 * 122 1,440
(O &= 1,440, 00024 *~10% A144
(2g+g) 12,000
1. ZEOIRH R ME A S 12,000
JHATEHA(ET) 25,0008 +8AI 2128 2,400
L AZEUA(SZ) 25,0002 +8AI 2122 2,400
CHAZEUA(DS) 25,0002 +BAI 2t 122 2,400
2. 28020 25,0002 xBA| 2Hx 128 2,400
OhE 2D 25,0002 *BAl 2H*122 2,400
BAS TR E 2,380 2,380 0
307 212+01 & 2,380 2,380 0
05 DIZHPIEr2 2,380 2,380 0
e T N 180,0002 * 122 2,160
2ENFIIGHE Y L2
110,0008!* 17 £ *23] 220
S 2AAY| (M2H2E) 497,992 414,670 83,322
oz 2 gy 433,924 353, 186 80,7383
oIz 2 gy 433,924 353, 186 80,733
101 Q1248 417,724 338,666 79,058
01 24 417,724 338,666 79,058
(22) 283,728
1. 52(295 %) 3,673,400+ 12+ 122 44,081
2. 62(2952) 3,201,100+ 12 122 38,414
3. 72(2052) 2,612,6002 *32) +122 94,054
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SN 2s
X ZH: SHA
S Tt

HY2I AL (LA2s)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
4. 828(653) 1,588,500& »2& »12& 38,124
5. 92(483) 1,302,000& »2H «x12& 31,248
6. JIs8=(2058) 2,351,000 x 18128 28,212
7. M IHAH 274,133,000 *3.5% 9,595
(4 =¢) 39,113
1. esRE=E 6,589
ot 58U (2058)
3,201, 1003 x 18 4 1%+ 122 1,575
L. 62U (205 3)
2,612,600 x3& x4 1%+ 12 3,857
G Jls72t=R(2053)
2,351,000& x 12 +4 1%+ 122 1,157
2. d2=¢ 283,728,000& *1/12 23,644
3. d2=+=gJtit= 8,880
Jb. 2549014 130,000& »2H 123 3,120
Lt. 200l &k~25 0] 2t
110,000& ~2E 122 2,640
Ch. 1501 &~20E 012t 80,0008 x2E *12& 1,920
ct. 55014~10E 018 50,000 x2H 122 1,200
OHEd=+¢) 9,321
1. JtE=¢ 3,960
Jb. B A 40,000 x4H x 122 1,920
Lt JIEHHS 20,0003 7122 1,680
Ch. &S (AR 0l &)
30,000 x1H*12& 360
2. HASHIEXE 5,361
Jb. NsSstd 446, 7003 x3E *47| 5,361
(S=22=¢) 9,600
1. JIsd32+E 20,000 x1H*12& 240
2. ExXEsrd 9,360
. S22+ 70,000 x9H *12& 7,560
Lt QIR sE 30,0003 «3EH =12 1,080
Ch. Al2I=XER2+E 30,000 *1E+12& 360
ch. ARSI Rt =2
30,000 x1H*12& 360
(Zn22=¢) 31,989
1. A2 RE
8,078 *33AI 2tx102H » 12 31,989
(AHI2AS) 43,973
1. NS A 130,000 108 «12& 15,600
2. BEFJHI 283,728,00094%1.2/12 28,373
204 A=A 16,200 14,520 1,680
02 A g2 &4 16,200 14,520 1,680
1. A3 2XH| 16,200
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SN 2s
X ZH: SHA
S Tt

HHSIAL(&A2E)
&l QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Jt. 538 250,000 x1H «12& 3,000
Lt. 62 155,000 x1H +12& 1,860
Ct. 72 140,000 *3F » 12& 5,040
ct. 8-92 105,000& 5« 123 6,300
Jl=2Z4l 64,068 61,484 2,584
Jl=&dd| 64,068 61,484 2,584
201 ZEt2FH| 24,298 22,364 1,934
01 AtR2tel 11,236 10,206 1,030
(LBr=2H]) 8,260
1. 2N2S=EH| 300,000& *10H 3,000
2.0BI2SUHAIRES 100,000& «12& 1,200
.FUSES . ==2EX 27,0003 208 A 540
4AUSHUSEESERXN 64,000 *128FA 768
5.2AMEX 16,0003 28 A 32
6.AONERE EH/EY
100, 000& *4CH x4 3] *80% 1,280
7.2A] EH/ZENRRE
200, 0003 = 1CH*43] *70% 560
8.2AIMED EU 100, 000& *2CH x4 2] *80% 640
9.21&87| el=/¥3 20,000 x1CH* 123 240
(gxZ) 960
1.3J1&ED| 40,000& »2CH «12& 960
(2224¢) 500
1.e=s8ag 50,0003 *1H 10 500
(=dl) 4,200
1|2 RS2 S 4|
7,000 «541 102 122 4,200
(Gl At 2) 13,420,000 *»—20% N2,684
02 2244 13,062 12,158 904
(ES23LHA) 8,916
1.2ESLSH 3,600
b gt 250 x150244 123 450
L. S 1,7503 x 15021 x 128 3,150
2. ¥Ilg 380, 000& * 123 x80% 3,648
.40t 35,000& 123 420
4. SZMEREZ 70,000& *23] 140
5 H3XE AR 120,000& 13 120
6.2 JFAHUSAZ 30,000& x12& 360
7T HEXEEBEE 350,000& *1CH*12 350
B.0IEXHEER 60,0003 = 1CH*13 60
9. HEXNEEIIBM=T 25 000&+101+12 25
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A AAS
HM: Y S2IAH|(MA2E)
Cel: J|=2&] (&te @2
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
10, HEXILHSHAZTLUBAIZ
33,0002 *1CH*13] 33
N A} ANLRE S
65,0002 *1CH*23] 130
12, IS A 30,0002 x1CH*13] 30
(¢124l) 1,613
1. AL A 1,80024 %2 4 *8A| 2H*80L x70% 1,613
(A2 ZH| =& 2 X)) 2,934
1LEMAHE 1,500,000 *80% 1,200
2.3 M9t A 100, 000 =1 CH 100
3.BAESD 100,000 *2CH 200
4.227] 50,0002 *1CH 50
5. 84D EHEWE 45,0002 *2CH 43 360
B.20IS0IAAE 2T B4
66,0002 *1CH*43] 264
7.X2QIAAAE 224
30,000 «1CH* 122 360
8.2 ALD| 400,000 *1CH 400
(K X22Hl) 1,050
1.2 RH 50,0002 «1CH* 122 600
2. X2 FH S X 150,000 *1CH *33] 450
(o aHE ) 14,513,000 *—10% 1,451
202 04 Hl 24,960 27,360 A2,400
01 2L 04 bl 6,480 8,640 A2,160
1.2Wo 20,0002 x93 « 122 6,480
02 2 M 0iH| 18,480 18,720 A240
1. 2M0H| 220,000 x7H «12& 18,480
203 & 2= ZH| 9,960 9,960 0
01 DI 2 2H AR FAH| 6,600 6,600 0
1.0 22 AR E=EH| 6,600,000 1 6,600
02 AR F A 360 360 0
1. HAIAMA R =X 40,0002 x9Y 360
04 BA2HHRFFH 3,000 3,000 0
1.2NR2IAR | 250,000 * 122 3,000
204 Z 2 2=34 2 H| 1,800 1,800 0
01 XM ZAD LA 1,800 1,800 0
1.2 M3 U2 =K 1,800
oh.s% 150,000 1H « 122 1,800
405 XFAHE SH| 3,050 0 3,050
01 AHAHL 2EF SH| 3,050 0 3,050
1.3 &R 200,000 * 10K 2,000
2. - A9 X} 35,0002 «300H 1,050
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A AA3S
H: R0 MY B T2 (MAIS)
el FOIMYH 29 (&te: @2
- _ _ ME
2N -3 - c2(3H) - NEME - HES 0 Ak oH @;OH Hl =2
ALH3S 595, 165 629,768 A34,603
F0l A MO TP (AHA3SE) 92,684 95,284 A2,600
FOIME 29 92,684 95,284 22,600
E.UE X 83,400 87,000 23,600
301 Lt A2 83,400 87,000 23,600
055 -2 - BHESESEAZ 83,400 87,000 23,600
1. E&gUEZH| 82,000
ohoE24e 200,000 x25% * 122 60,000
(PN =" 200,000 x25% 23] 10,000
Ct.3lo &gt 20,0002 *25%H x23| x 122 12,000
2.0t E G 25,0002 x28% x23| 1,400
FONXMEHIZOY 2 5,880 5,880 0
201 L2 A | 5,880 5,880 0
01 AL 2t2IH] 5,880 5,880 0
(EEES=T1) 1,200
1. F0IXX M EH 22 100,000 * 122 1,200
(ol aFE2H) 1,200,000 —10% A 120
(29xH) 4,800
1. FQIRRI A E 2 ARG 4,800
obotemal 25,0002 *8A| 2tx 128 2,400
L. QJtmal 25,0002 *8A| 2tx12” 2,400
HALS X2 3,404 2,404 1,000
307 g12+0| & 2,404 2,404 0
05 QI2tRELZ 2,404 2,404 0
1.2oZd| 222 182,000 x 122 2,184
LEANEIEUB- ST
110,000 * 14 A %23] 220
401 AlEHI 2 2THY] 1,000 0 1,000
01 Al&H] 1,000 0 1,000
1. X ME IR LD (2S) 1,000,0002 * 14l 1,000
A2 HH|(AAHIS) 502,481 534,484 A32,003
olad 2 Y] 441,221 464,978 N23,757
ol 29| 441,221 464,978 N23,757
101 @124 H| 424,601 445,358 N20,757
01 B2 424,601 445,358 N20,757
(22) 287,011
1. 52(30&2) 3,698,200 x1H »12& 44,379
2. 62(2852) 3,175,800 x 1 » 122 38,110
3. 72(13&82) 2,255,000 x4 » 128 108,240
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A LA3S
T ZH . BH A
o Tt

HY2HAH (&A3S)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
4. 88(783) 1,659,000& »2& »12& 39,816
5. J1s8=(2888) 2,462,900x1F 123 29,555
6. JIs9=(658) 1,433,700« 1E x12& 17,205
7. MIH&H 277,305,000 *3.5% 9,706
(4H=¢) 38,392
1. iesRdE=E 5,954
b 420305 3)
3,698,200& x 18 4 1%+ 122 1,820
Lt. 52t (2853)
3,175,800 x 12 »4 1%~ 12 1,563
Ct. 628U (20&88)
2,612,600 x2& »4 1%+ 12 2,571
2. d2=¢ 287,011,000& x1/12 23,918
3. d2=+=gJtit= 8,520
Jb. 254901 & 130,000& »2H 123 3,120
Lt. 200l &k~25 0] 2t
110,000& x1E 123 1,320
Ch. 150/ &~20E 012t 80,000 x1E *12& 960
ct. 1089 0] &~154012t 60,0002 x 18«12 720
Ot. 5801a~108012F 50,0008 x4H 128 2,400
OHAEd ) 12,827
1. JtE=8& 11,040
Jb. B A 40,0003 «10¥~12& 4,800
Lt. JIEt 20,0003 x26H 122 6,240
2. NHASHIEXE 1,787
Jb. 1SSty 446,700 x 18 47| 1,787
(Ex22=Y) 10,080
1. SN2 10,080
. S22+ 70,0003 9 x12& 7,560
L. QIR E 30,0003 «3%H =122 1,080
Ch. Al2ISXER+E 30,0008 2B +128 720
ch. Al S XER=Eotets
30,000 «2H «12& 720
(ZA2R=E) 31,989
1. A2 2
8,078 *33AI 2tx102 x12& 31,989
(AHI24S) 44,302
1. ZHZAHI 130,000 10E 122 15,600
2. BEFJHI 287,011,000& x1.2/12 28,702
204 MR A Y| 16,620 19,620 A3,000
02 a2 &4 16,620 19,620 A3,000
1. A= 244 16,620
Jt. 55 250,000 x1E *12& 3,000
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SN AZH3E
HE: #E2AAY(LH3S)
&l QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Lt. 62 155,000 x1H « 122 1,860
Ct. 72 140,000 4 H + 128 6,720
ct. 8~0= 105,000& *4H » 123 5,040
Jl2&Hl 61,260 69,506 A8,246
Jl2&H| 61,260 69,506 N8,246
201 ZEt2FH| 23,940 21,956 1,984
01 AtR2tel 12,243 11,048 1,195
(get=Hl) 9,398
1.2t M =2l 300,000& «10H 3,000
2.0HIZ S RAIRES  100,000& 14 «12& 1,200
.UOINEH/EE 210,000 *5CH *32] *70% 2,205
4FUSES Z2LIEY
27,000 28 A %123 648
5.0AEHNLIBS LB
64,000 x 102 A 640
6.213J|2l& 20,0003 1 =12& 240
7.0130|12 A= 150, 0002 *1Jf *23| 300
8. WAEY 130, 000& *1CH*32] 390
9.2 AIIEH 85,0003 *5H 425
10. = A1 |H 350,000& *13] 350
(gxz) 1,080
1. 83xJ|dXts 45,000 »2CH =123 1,080
(2g22¢) 500
1.e=s8ag 50,0003 x1H 10 500
(=dl) 4,200
ISIE-E RS E W
7,000& «541 102 122 4,200
(Gl At 2) 14,678,000& »—20% N2,935
02 2244 11,697 10,908 789
(ES23LHA) 8,456
1.282 3,180
Jb. gt 250 x150244 123 450
L. s 1,7503 x 13021« 128 2,730
2. ¥Jlg 320,000& x12& 3,840
.40t 40,0002 =128 480
4. SZMEREZ 65,000& *23] 130
5.0 HUAMER 16,000& *3CH = 12& 576
6. 83t xH A2 150,000& 13| 150
7. HII0IEXNHABEZ 100, 000& 13| 100
(¢d=2dl) 1,461
1.8 4 (25) 1,352%2 4 *BAl 2t+90L 1,461
(A8 & Hl = Xdl) 3,079
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SN A4S
HE: T OHE O TD(MA4S)
Sl FOMERY (e @
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o B2
WEVES 563, 255 569,090 A5,835
=0l #E Ho| TQ(LH4S) 90, 166 96,686 A6,520
DIHIE 2 90, 166 96,686 A6,520
& Xg 70,230 73,880 3,650
301 B A2 70,230 73,880 3,650
055 2 - HHHESHS 70,230 73,880 3,650
. SR+LLESH| 68,880
b4 200,008 *21 * 122 50,400
Lt & 012 200,0008 %212 x23] 8,400
ChBlO &AL 20,00020%212+25]« 128 10,080
2. BIE AT 25,0008 %272 x23| 1,350
QX ME T2 2 15,696 18,706 A3,010
201 Yut2 HH| 15,696 13,296 2,400
01 ALR 2l 15,696 13,296 2,400
(LorsgY| 1,440
1,201 X X M Ef 2 2| 120,000 * 122 1,440
(o &= 2 1,440, 00024 *~10% A144
(2g4+9) 14,400
1. ZEOIRH R ME A S 14,400
b MDA 25,0008 *8A| 2++122 2,400
LA Am= 25,0008 *8A| 2++122 2,400
Cholemal 25,0008 *8A| 2++122 2,400
2HZE /0K SR0IDA(E3Y)
25,0008 *8A| 2++122 2,400
OHZE 010K S=0{DA(F3Y)
25,0002 *8A| 2++122 2,400
bt 22 25,0008 *8A| 2++122 2,400
NS 4,240 4,100 140
307 21201 & 4,240 4,100 140
05 BI2HeIEr 2 4,240 4,100 140
IR LTETE R 220,000 *122 2,640
2HAMFEIHNH L2
200,0002 17 4 23] 400
3 AREARINE SR 100,000 * 122 1,200
B 2 oA (AA4S) 473,089 472,404 685
oIz 2| 411,131 400,692 10,439
ozt 2 H| 411,131 400,692 10,439
o121 4| 395,351 384,072 11,279
24 395,351 384,072 1,279
(23) 273,335
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SN A4S
I WZS PP (L2A4S)
cel: ol 2oy (erel: @ 2
RA B SA(BH) - NRAY - B 01 e HRE2
1. 53(305 ) 3,698,2002! * 1% * 122 44,379
2. 63 (452) 3,047,300 %124+ 122 36,568
3. 72(1732) 2,474,300 %52+ 122 148,458
4. 83 (63 2) 1,588, 50021 12 122 19,062
5. 92 (45%) 1,302,00021 * 1% 122 15,624
6. XMl 264,091,0002! *3.5% 9,244
(&014%) 34,332
1. He2RA+Y 2,674
. 5202 (35E)
3,009, 60021 * 124 *4, %122 1,481
Lt 6202 (165 )
2,423,20021 12 4. %122 1,193
Hasg 273,335,0002! *1/12 22,778
3. ¥axglaz 8,880
Ot 2514014 130,0002 %22 * 128 3,120
Lb. 2001 &f~25¢4 0] @
10,0002 %22 * 128 2,640
Ch. 158101 4~204018F 80,000 x22* 128 1,920
ob. 501 4~10E018F 50,000 *2%* 128 1,200
OIHEE2+Y) 8,640
1. tE+g 8,640
b, BeXH 40,000 *9% 122 4,320
Lb. JIEFLS 20,0002 * 18 * 128 4,320
(£2224+9) 8,880
| S$HRay 8,880
tE2esy 70,0002 +8% 122 6,720
Lh.olpieieay 30,0009 +3% * 12 1,080
CHAISISXZR4E 30,0008 %22 122 720
ohASI SR LRSS
30,0002 %12« 122 360
(ZD224Y) 28,790
1. AIIQI 24 8,0782%33A1 20 « 12 28,790
(AHIZAS) 41,374
1. FUZA| 130, 0008 *9 * 128 14,040
2. YEEIHI 273,335,008 %1.2/12 27,334
204 M@ A Y| 15,780 16,620 840
02 XZ 2 x| 15,780 16,620 840
L AZExY 15,780
ot 52 250,0008! * 12 * 128 3,000
L .62 15,0002 1% *128 1,860
Ct 72 140,0002 *52 * 122 8,400
2. 8-93 105,000% *2% * 128 2,520
DIEE] 61,958 71,712 £9,754
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SN A4S

B HH2HAY| (HH4S)

&t D=3l (el &)
S HE - S(EH) - NRAY - BES sk oy e 2
Jle=3| 61,958 71,712 A9,754

201 get2Ad| 27,078 26,432 646
01 A2 2t 2ldl 11,198 11,396 A 198
(get2H 8,632
1. 22 300, 000& 9% 2,700
2.018I=2d =2 100,000& x12& 1,200
.12y & 240, 0003 *4CH x53] *70% 3,360
4.0180|el& 20,000 *1CH =12 *80% 192
5.FRSES. =&KX 27,000& *20box 540
6.002SENLESEEFZERX 64,0002 *10box 640
(gxz) 960
1.3218 &7 40,000 =2CH « 128 960
(22+g 500
1.9=8g 50,000 x1H*10 500
(=&l) 3,780
1.2 fs+dE2 sS4l
7,000 *541«9H «12& 3,780
(oot 2) 13,372,000:2 *-20% A2,674
02 2324l 15,880 15,036 844
(2223% 15,358
1.282 2,538
Jb. Bt 250% 10024+ 128 *90% 270
L. S 1,750 * 12024 = 123 x90% 2,268
2. ™8Iz 1,100,000& » 122 *90% 11,880
3.40t+=E2 60,000& 123 720
4 Bt ZHE A2 220,000& =13 220
(A2 &HIKXl8l) 2,286
1.EMAS 800, 0003 *1JH 2 *80% 640
2. PSS 200, 000& *2CH *80% 320
3.2AHE S| 100,000& = 1CH 100
4. 428 I 2H 30,0003 +x2CH=12& 720
5, 2= AARKSAIEH 12,1002 +12& 146
6. K2 I ATAl A El 2=t
30,000 x1CH+128 360
(ol arE2) 17,644,000 *—10% AN1,764
202 (44l 22,320 30,720 28,400
01 =2 WA bl 6,480 5,760 720
1.2 Wb 20,0003 9L 3+ 123 6,480
02 M 15,840 24,960 29,120
1. 2H0 220,000 6H 12 15,840
203 R E | 9,960 9,960 0
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A 281S
M F0 WY B T2(=2HIS)
el FOIMH2S (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
=251 498,205 487,255 10,950
F0 ME HO T2 (281T) 65,926 76,836 10,910
FOMH2Y 65,926 76,836 10,910
= . BHE X 57,910 58,760 A850
301 Yt A2 57,910 58,760 A850
05E -2 BtEsSs8AZ 57,910 58,760 A 850
1. 884 YE S| 55,760
ot oleeg 200,000 17« 122 40,800
L. &2 200,000 x17H %23 6,800
Ct.3lo &gt 20,0002 x 17 «23] « 12& 8,160
RIS 25,0002 *43% «23] 2,150
FONXNEH T2 2 5,880 15,880 210,000
201 Lpt2AH 5,880 5,880 0
01 AFR2telH 5,880 5,880 0
(er=2H|) 1,200
1. =X A E 2EH| 100,000 * 122 1,200
(ol aFE2H) 1,200,000 —10% A 120
(29xH) 4,800
1. FQIRRI A E 2 ARG 4,800
bAoAl 25,0002 *8A| 2t *12& 2,400
Lh.&ADA 25,0002 x8A| 2+ 12& 2,400
HAMS K22 2,136 2,196 260
307 g12+0| & 2,136 2,196 B0
05 QI2tRELZ 2,136 2,196 AB0
1.R2oAH el 153,000 * 122 1,836
2.EAMNBIICHEHR L2
150,000 * 1 2 #23| 300
HELHAH|(2HI1S) 432,279 410,419 21,860
Qlad 2] 371,676 345,716 25,960
ol 29| 371,676 345,716 25,960
101 @124 4| 356,316 330,776 25,540
01 B4 356,316 330,776 25,540
(23) 245,021
1. 52(30&2) 3,698,200 x1H « 122 44,379
2. 62(2852) 3,175,800 x 12 » 122 38,110
3. 72(11&8) 2,128,700 x4 » 122 102,178
4. 8355 2) 1,518,500 x2%H « 12& 36,444
5. 92 (43) 1,302,000 1« 12& 15,624
6. MM 236,735,000 *3.5% 8,286
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S =EIS
I YA (SS1S)
ool QE 2| (e E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
(40=H) 30,042
1. 32 3,383
o, 4202 (052)
3,698,200& *1H 4 1%+ 12& 1,820
L. 58U *(B=S)
3,175,800 18 x4 1%+ 123 1,563
2. 832=+¢ 245,021,000& *1/12 20,419
3. E2EHIt=3 6,240
Jb. 25 0] & 130,000 »2H «12& 3,120
Lt. 2010|4251 0] ot
110,000& x1H «12& 1,320
Ct. 55014~104012 50,0003 +12& 1,800
(A=) 5,040
1. s 5,040
Jb. B X 40,0003 x6ZH x12& 2,880
Lt. JIERDFS 20,0003 x99 «12& 2,160
(Ex=222Y) 8,880
1. Ex82xE 8,880
. s22=H 70,0003 x8F 122 6,720
Lt PR 30,0003 x2ZH x12& 720
Ct. AlSISXIER+=Y  30,000&«2Z+12& 720
ch. ARRISXNZE RIS
30,0003 x2E x12& 720
(Zn22+¢) 28,790
1. AM2te224 8,078&*33AI2t+x9FH « 123 28,790
(AHI2AS) 38,543
1. dMZ A 130,000 9 «12& 14,040
2. BESIH 245,021,000&*1.2/12 24,503
204 X2 AH| 15,360 14,940 420
02 =22l 15,360 14,940 420
1. §=2xl 15,360
Jt. 5= 250,000& x1H «12& 3,000
Lt. 6= 155,000& x1H «12& 1,860
Ct. 72 140,000 x4 H « 122 6,720
ct. 8~0= 105,000 *3F x 123 3,780
Jl2Z&Hl 60,603 64,703 24,100
Jl=23tl 60,603 64,703 24,100
201 Lyt y) 26,083 25,183 900
01 AR 2teld| 11,611 11,153 458
(2er=8dl) 10,108
1. 2N2Z =2l 300,000& 9 2,700
2.0HIZERARES 100,000& = 12& 1,200
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SN =281
HH: HH2AAH(SE1S)
el JlE3sl (&9 &)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
3.218712l= 20,0003 »1.5CH«12& *90% 324
401501243 132,000& *12] 132
5, ZglHEYH 160,000& *142] *90% 2,016
6.Z2HEH 160,000 *93] *90% 1,296
7.0ZSENLSSF=EA 64,0003 82 A 512
8.FEUEES . z2LSEA 27,0008 128t A 324
9.2 AIEH 130, 0003 *42] *90% 468
10. 2ALE SII1E Y 88,000& *22 176
1.2 ALEX 16,0003 609} A 960
(2g49) 500
.92 50,0003 «1Z =10 500
(S&l) 3,780
1J12gRsdS2as40l
7,0002 x541x9H« 123 3,780
(Ol AFE2E) 13,888,000 *—20% N2, TTT
02 =524 14,472 14,030 442
(2B23LHAH) 10,272
1.98= 2,508
Jb.gt 2503 80 128 240
Lt S91 1,750& x 12024 12 *90% 2,268
2. 8012 500,000& 12 x90% 5,400
3.4 .0t=k= 80,000& x12& 960
4. 2FNERES 90, 000& *23] 180
5. 0HUAIEZ 16,0003 =2CH«12& 384
6.33txFEAS 150,000& 13/ 150
7.FUXNXNAEHSALSNHABSEE =
150,000& 12 150
8.MJI0IEXNSAEE SR 80,000& *12 80
9. NMNASFRUSSSHTAHSEE A
100,000& * 19 2= *13] 100
0. MN2SFUSSa & 22|
30,000& * 10 2+ 123 360
(281) 2,712
TAFRAASHl 1,355.80& %5 £ «5A1 2tx80L 2,712
(NEEHI=Xl) 3,096
1.2AIA = 2,000,000& 2,000
2. 8==J|2H 100, 000& 104 =32 300
3.dtD] 100,000 =3CH 300
4. THet2tel (24=I]) s X 50,000 = 1CH 50
5.2 S0IA AR XIE4H  12,100& 128 146
6. S AL 300,000 = 1CH 300
(Ol &FE2)) 16,080,000 »—10% A 1,608
202 04l 22,800 27,600 4,800
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SN =E1S
I YA (SS1S)
&2l Jl=23Hl
SN S(B) - NRAY - B2 01l &t o8 B
0l &
01 WA 4,320 5,760
1.2 Wbl 20,0003 9L x2H 123 4,320
02 A0 18,480 21,840
1.2 R0 220,000& 7~ 123 18,480
203 g =&yl 9,920 9,920
01 JI 22 LR FLAH| 6,600 6,600
1.0/ 22HLRF4| 6,600,000& 14 6,600
02 2= 320 320
1. 2RI HRFAH| 40,000& x8H 320
04 FEN2IHRFLAHI 3,000 3,000
1.2A2ELRFAH 250,000& «12& 3,000
204 A @232 | 1,800 1,800
01 M MSHR=H A 1,800 1,800
1.2 gHRFEY 1,800
H.sH 150,000& x1E «12& 1,800




SN

ek BolEQ
SEE 2 (eel: &
_ _ SIEN
o (S H) - MRAMY - B e {imE=Eh
=3 798,920 786,567 12,353
F (=8 139,966 149,276 £9,310
=1 139,966 149,276 £9,310
Nk 120,630 131,140 A10,510
301 LerR A 120,630 131, 140 A 10,510
el - gt 120,630 131,140 £10,510
(R=F-F3<; 118,080
otolgs 200,0002 +36% 12 86,400
Lh &0 2 200,0002 +36% 23| 14,400
Ch.3l2 20,0002 +36% »25] + 128 17,280
PHE G 25,0002 +512 %23 2,550
MEtZ2OY 29 16,896 15,696 1,200
U 2oy 15,696 15,696 0
01 At 22/t 15,696 15,696 0
SEES=E1) 1,440
1. FOIRXI HIE 120,0002! * 12 1,440
Ofl &+ 1) 1,440,002 ~10% A4
(29+9) 14,400
1. FOIX X MIE o 14,400
JhAEXUA(E) 25,0008 +8AI2H+128 2,400
Lh AZRGHA(E) 25,0002 +BAI 2128 2,400
CHAEZHUA(D) 25,0009 +8AI2H+122 2,400
et.otenal 25,0002 *8AI 2+ 122 2,400
OhJIZHE 25,0002 *8AI 2t 122 2,400
bh.E =0 mal 25,0002 *8AI 2t 122 2,400
A S 1,200 0 1,200
01 AL SEF S| 1,200 0 1,200
S0y 600,000 2CH 1,200
Ze 2,440 2,440 0
2H0I | 2,440 2,440 0
dteera 2,440 2,440 0
CRIEE 185,0002! * 122 2,220
AR
110, 0008 *17§ £ %23 220
BH2AAY (Z82S) 658,954 637,291 21,663
olzi2 o] 585,559 552,485 33,074
ozt oyl 585,559 552,485 33,074
o124y 564,559 531,065 33,494
24 564,559 531,065 33,494
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SN
X XH .
S Tt

ok

CHB L PRIEH) - MRAY - BES 0f & o Soe DB
(23) 391,386
1. 52(30&8) 3,698,200 x 1 »12& 44,379
2. 62(2638) 3,116,900 x2& » 128 74,806
3. 72(2058) 2,612,600 x6E x12& 188,108
4. 88(553) 1,518,500& x 18« 123 18,222
5. 92(783) 1,497,300& x 12+ 123 17,968
6. JIs7=(2858) 2,888,900 x 12 »12& 34,667
7. MSIH&HI 378,150,000 *3.5% 13,236
(&0 =¢) 52,246
1. RsFE=E 5,950
AU (B0ES)
3,698,200 x 12 »4 1%+ 12 1,820
L.t (21es)
2,928, 100& x 12 »4 1%+ 12 1,441
CesUR(2353)
2,732,000 x2H x4 1% 122 2,689
2. 324 391,386,000 «1/12 32,616
3. 2omets 13,680
Jb. 254014 130,000 ~4E x12& 6,240
Lt. 20110]&t-25E4 0/
110,000& »2E x12& 2,640
Ch. 158 0[&~20 012t 80,000 x3& »12E 2,880
ch. 100[&~15E 012t 60,0008 x1E *12& 720
OF. 58 0l&f~10H0/8 50,0008 »2E *12& 1,200
OHHEd*d) 12,921
1. &= 7,560
Jb. S A 40,000 x9H *12& 4,320
L. JIEHHS 20,000 x 12~ 122 2,880
Ch. Jt& S (AR Ol &)
30,000 x1E*12& 360
2. HASHIEXE 5,361
Jb. DSt 446,700 x3E *47| 5,361
(S+224) 11,760
1. S=X2xE 11,760
t.s22=4 70,000 x 118« 128 9,240
L 2IEHR=E 30,000 x4H *12& 1,440
Ch AR SXE2+E 30,000 x2E *12& 720
ch AR SRSt S
30,000& x 1«12 360
(Zn22=+¢) 38,387
1. Alt22+E
8,078& x33AI2t+12H « 122 38,387
(HHI24S) 57,859
1. dHZ A 130,000& «12H « 128 18,720
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2A: 22

M dy2ITH(=582s)
el Qe 2 (98
SN BB SRS - MRAY - BES Lo e DS
2. SE = 391,386,000¥ %1.2/12 39,139
sl 21,000 21,420 A420
= 22| 21,000 21,420 AN420
=N | 21,000
Jt. 53 250,000 x1E *12& 3,000
Lt. 62 155,000& »2H 123 3,720
Ct. 72 140,000& »7E «12& 11,760
ct. 8~9= 105,000& »2E x12& 2,520
73,395 84,806 A11,41
73,395 84,806 AT11,411
2ot 30,505 29,726 779
f2eldl 13,872 13,604 268
B2 Hl) 11,675
1. 2KA2E=8H| 300,000& 12 3,600
2.0HIZERANRES 100,000 x12& 1,200
3.0 EEHEY 200,000 73] «80% 1,120
4.c0IMNEZEHES 250,000& »63! *80% 1,200
5. 0ASHNLSS+EXN(ZTLRNE)
64,0003 x 158 A 960
6.FUSESZ=EN 27,0003 309 A 810
7.21&80|el= 20,000& *3M x 128 720
8.21&8J|E¢ct 120,000& 22| 240
9.2AEE0 EYH
100,000 * 10H =12+ A %32] x80% 240
10.= AP &
330,000 * 10 18+ A %32 x80% 792
11.SAEX 16,0003 »202F A *80% 256
12. 8 =)l €l 44,7003 x1CH* 123 537
2d+¢) 500
1.d=8d 50,000 *1H*10& 500
(S&Hl) 5,040
1012248 S23 AL
7,000 *541x 12E 128 5,040
ol & & 2Y) 16,715,000& *—20% A3,343
02 38&4H 16,633 16,122 511
(ESQSBLHA) 13,217
1.01EX 28& 80,0002 x1CH*13] 80
2.8 6,285
Jb.dgt 250 x15024 * 122 *90% 405
L. S2I 1, 7503 2804 <123 5,880
RSP 500,000& *12& *90% 5,400
4. otz 50,000& x12& 600
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S =82S
HH: SN2 AR (SE0S)
el JlE3sl (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
5. 83 M EE=S 56,000& *22] 112
6.8t A2 58,000& *22 116
7.QRAHY AIBE 15,0002 =30« 12& 540
8.IA0ISTVAIER 7,000 * 128 84
(¢2dl) 2,184
1ALR A 1,300& *42| H+6A| 2H+70E 2,184
(A& ZHIRXHl) 3,080
1.EMAS 2,000,000& 2,000
2.2 AMESEDI 100, 000& +2CH *80% 160
3. 8==JI7 A2 50,000 *2CH »23] 200
4. ZQISOIAARKFIIE 4=H] 40,0003 42 160
5.01&Xt ==clH] 50,0003 = 1CH*43 200
6. XZAAMAIAHF X2 ==HI
1JH%30,000& 128 360
(Ol AFE2E) 18,481,000 *—10% A 1,848
202 04l 29,760 39,360 /9,600
01 = LHAOHI 8,640 14,400 A5,760
1.2 20,000 x9L »4H x12& 8,640
02 2 M0t 21,120 24,960 A3,840
1.2 A0 220,0002 »8H 12 21,120
203 ¥Rl 10,080 10,120 A40
01 J[22g R FaH| 6,600 6,600 0
1122324 6,600,000 14 6,600
02 R tHH 2 =& 480 520 A40
1. E3IH 2= 40,0003 ~12& 480
04 FEAEEERFEH| 3,000 3,000 0
1.2A2SYRFAH 250,000 12 3,000
204 MR =HHH| 1,800 1,800 0
01 Mg+ I 1,800 1,800 0
[PESESy=g=aP bS] 1,800
h.s% 150,000 12 =128 1,800
405 XHakF SH 1,250 3,800 A2,550
01 A&t =S EF SHI 1,250 3,800 A2,550
T.EAMESD 300,000& = 1CH 300
2AEEHS)) 950, 0003 = 1CH 950
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FH: S
HH: 0 #F MO CR(HES)
ool FRIMEH 29 (e a2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
2. o= AES 25,000& 123 300
(AEZHl |l 0
1. d4.28+) U= 50,000 x1CH*12& 600
(Ol & & 2) 4,500,000& *—10% A450
HE2IZH(UHES) 605,174 451,001 154,173
I8 2 533,332 392,290 141,042
el 2EH| 533,332 392,290 141,042
101 212 Hl 513,592 376,750 136,842
01 2= 513,592 376,750 136,842
(2=2) 354,671
1.52(30&8) 3,698,200 x 18«12 44,379
2.62(2828) 3,009,600 x2H x 12 72,231
3.72(178s) 2,474,300 x4 » 128 118,767
4.82(683) 1,588,500 »4H x12& 76,248
5.0ls8=(2r& =) 2,587,600 x 18+ 12& 31,052
6. M<IH&H 342,677,000& 3. 5% 11,994
(&0 =¢) 47,039
1L.UHRSRAE 5,243
ot.52U<(25658)
3,083, 1002 x 184 1%~ 128 1,517
Lt.6e2tR(20&53)
2,612,600 x 18 *4 . 1%+ 122 1,286
Che2UR(1553)
2,369,900 x 12 »4 1%+ 12 1,166
et oIs7TaUR(2753)
2,587,600& x1H *x4 . 1%+122 1,274
2.82+¢ 354,671,000&4 %1/12 29,556
3.82+Eits 12,240
Jb.25E 0l &f 130,000 «3&H »12& 4,680
Lt. 2020l &f~25E 018 110,000 x 1«12 1,320
Ch. 15501 &~204 012+ 80,000 x4~ 122 3,840
ch.5E 0l &~10= 012t 50,000 x4H *12& 2,400
OHAEdE ) 7,547
1.tE=¢ 5,760
It < XF 40,0003 x5 =128 2,400
LE. JIERDLS 20,0002 x11E« 123 2,640
Ch.OraE2 (AU TH XA O &F)
30,000 x2H *12& 720
2. HHEHIE RS 1,787
Jb.nsst 446, 7003 x 18 #4D| 1,787
(Ex=22R=Y) 11,760
1.5=22xE 11,760
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SH: S
I HH2HAH(HES
chel: Q2 Hy| (el &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
t.s2RE 70,0003 x11E~ 122 9,240
L. eIARE 30,0003 +x3H «12& 1,080
Ch A2 2RSSR+ 30,0003 x2H*12& 720
ch Al SX YRS IHet =
30,0003 x2H«12& 720
(Zn222¢) 38,387
LA 22 8,0783*33AI2H+12H « 128 38,387
(A2 AS) 54,188
1.3 A gAY 130,000& 128 » 123 18,720
2. BEF | 354,671,000 %1.2/12 35,468
204 A=A 19,740 15,540 4,200
02 a2 2| 19,740 15,540 4,200
1. 222 =H| 19,740
t.5=2 250,000& x1H~ 123 3,000
Lt.6=2 155,000 x2H 122 3,720
Ct.7= 140,000 x4 H 122 6,720
ct.8~9= 105,000 x5H 122 6,300
ZHl 71,842 58,711 13,131
=224l 71,842 58,711 13, 131
201 et2Ad| 29,722 18,911 10,811
01 At 2teltl 12,891 9,240 3,651
(2ers=&Hl) 10,448
1. 2N 238l 300,000& x12H 3,600
2.0BI2SRAIRES 100,000& <128 1,200
.UOIMEH/E™ 200, 0003 *5CH x4 3] *80% 3,200
4 HAEH 88,000& »1CH x4 2] 352
5. F0SES ==222EXN 27,0002 «30H A 810
6.022SHENLESEFEX 64,0003 142 A 896
7.21&80|2l& 20,0002 x1CH+ 128 240
8.8/ A(&, =M 25,000& »2JH4 33| 150
(28+4Y) 500
1. 298 50,0003 x1H 10 500
(S &Htl) 5,040
128524l
,0003 x5« 12H 123 5,040
(ol abE 2t) 15,488,000& »—20% A3,097
02 2324l 16,831 9,671 7,160
(2222 < HA) 15,616
.98z 4,551
Jb. et 2503 *40024 » 122 +80% 960
Lt. &SI 1,7503 19021 » 122 «90% 3,591
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fA: OHES
M HH2AAH (NS S)
chel: Jl2&l M)
N B3 CR(SI) - HIRAY - BES aho ?.%Esfa e
Pl 1,000,000 122 *80% 9.600
3.4 ETAIER 80,0002 * 122 *80% 768
4.8ANERES 70,0002 »23] 140
5.08HUABE 29,7002 *1CH* 128 357
6.¥axHAR 200,0002! *13] 200
(A2 =HIRXIHI) 3,085
1LEAAS 2.,470% *843. 361 Z DI £ x50% 1,042
2.2AESD 200,000« 1CH 200
3.4, X4 HE 65,0008 <200 128 +70% 1,002
4.2 50,0002 =2CH 100
5. 20IS0IA AR 2 4]
12,1002 x20H x 128 291
6. XI2QIA A AR QX2 4]
30,0002 *1CH* 12 360
QCPSe<Ely 18,701,0002 *~10% ~1,870
202 o4l 30,240 27,600 2,640
01 3401t 6.480 5,760 720
1.2 20,0002 x9 x3% » 128 6.480
02 2 %01 H| 23,760 21,840 1,920
1.2 40t 220,000 x9 » 128 23,760
203 P2 EX Y| 10,080 10,000 80
01 J|22I YR FTY| 6.600 6.600 0
1.2 2P x| 6.600,0008! 1 6.600
02 MM 2 FTH| 480 400 80
1ROt 2 =R 40,0002 » 12 480
04 RARIYRFTL| 3,000 3,000 0
LAY T 250,0002 * 128 3,000
204 E R4 A 1,800 1,800 0
01 MM HL2 LAY 1,800 1,800 0
1L AMIAREAY| 1,800
PI=F} 150,0008! 14 * 128 1,800
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SN AHS
HE: F0l @N MO TR(ATS
Sl FOMERY (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol AF o8 HwsZ
Acs 556, 562 530,958 25,604
F0 Y HO SR2(AHS) 77,504 96,714 219,210
ZoIME Y 77,504 9,714 ~19,210
S BEXY 56,480 57,230 AT50
301 B A2 56,480 57,230 AT50
05E-2 - BEEs 56,480 57,230 AT50
| EZ+y 2 = 52,480
bolEay 20,0002 162 * 122 38,400
RN 200,000 * 162 x23| 6,400
Ch.8lol &A% 20,0002 * 162 x23| * 122 7,680
2.8 Y 25,0002 *80%) x23| 4,000
ZOUNKME T2 Y 2 18,620 37,080 18,460
201 Yut2 HH| 4,020 7,080 3,060
01 ALR 2l 4,020 7,080 3,060
(Ler284) 1,800
1. 201X MIE 2 bl 150,000 * 122 1,800
(Ol &= 2) 1,800, 00024 *~10% A180
(2g+g) 2,400
1LEQIRRIME 2AHS 2,400
p/B=p/ PN, 25,0008 *8A| 2++122 2,400
405 Xt &HF S HI 14,600 30,000 15,400
01 HAUSEHS 14,600 30,000 15,400
1. RY Al 35 13,200,0002 13,200
2.L0D TV 700,000%2CH 1,400
BAS TR 2,404 2,404 0
307 212+0| & 2,404 2,404 0
05 I2teIEr 2 2,404 2,404 0
. 2o1FH el 2 182,0002 128 2,184
2 HAE D OHE B ]
110,000 * 194 4 %23l 220
HHEAHY (AHS) 479,058 434,244 44,814
ol 2yl 419,697 369,612 50,085
ol 2yl 419,697 369,612 50,085
101 Q1248 404,757 355,002 49,665
01 24 404,757 355,002 49,665
(23) 276,759
1.53(2652) 3,591,000 * 12 +122 43,002
2.62(295 %) 3,201, 1002 *124+122 38,414
3.72(235 %) 2,732,000 *32 *122 98,352
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- 1=1
Mo BYSAAL(LLS)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
4.82(68=) 1,588,500& »3& 123 57,186
6.0ls8= (2558 =) 2,529,600 x 112 30,356
7. M IMAH 267,400,000 *3. 5% 9,359
(ois¢) 36,184
1.UHeSRA=E 2,920
o 58U (2958)
3,201,100 x 18 *4 . 1%+ 122 1,575
Lt. 62U (285 S)
2,732,000 x 12 +4 1%+ 12 1,345
2.82+¢ 276,759,000 *1/12 23,064
3. d2=dt= 10,200
Jb.25E 01 &f 130,000& »2H 123 3,120
L. 200l &f ~25= 0] 2¢
110,000 42 »12& 5,280
Ct.58 014 ~1040/8 50,0002 x3& 12 1,800
OHEd==¢) 13,148
1.5+ 6,000
DI BN, 40,000 x6H *12& 2,880
LE. JIERIES 20,000 x108 ~ 122 2,400
CH.OrAFS (AU AFLE O &)
30,000 x2H *12& 720
2. tHEHIEEE 7,148
p/Sn =L 446, 7009 424 47| 7,148
(S+224+9) 8,160
1.5=8228 8,160
F.s22=4 70,000 x8H *12& 6,720
L 2IEHR=E 30,000 x2H *12& 720
Ch AR SXE2+E 30,000 x1H*12& 360
ch ARSI E RIS
30,000 x1E*12& 360
(=n22=+¢) 28,790
TAIZQAZR=E 8,0783A*33A1 21«9 x12E 28,790
(AHIBAS 41,716
1. 83U S A 130,000 x9H 12& 14,040
2. 8E=0tH 276,759,0009%1.2/12 27,676
204 MR A H| 14,940 14,520 420
02 a2 &4 14,940 14,520 420
1. A= 24H 14,940
.55 250,000 x1E *12& 3,000
Lt.6= 155,000 x1E *12& 1,860
Ch.75 140,0002 x3F 128 5,040
ct.8~93 105,000& 4E x12& 5,040
Jl=3l 59,361 64,632 A5,271
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=AM Ae
XM XH: SHA
S Tt [S= =)
=
—

el Jl

SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh
01l &+ o
Jl=&Hl 59,361 64,632 N5, 271
201 L2 24,301 23,542 759
01 AtR 22l 10,316 10,130 186
(get=gHl) 8,489
1. 2N 2 =24 300,000 9 2,700
2.0HZERMEES 100,000& =12 1,200
.AOINEEHD EH/EY™
200,000& *3CH *53! *90% 2,700
4. 2ANESED] EH 150, 000& * 1 CH*32] 450
5.X0ISE S 22Y3EX
27,0003 = 1580X 405
6. 22 H ¥ SAEX 19,5003 *15B0X*80% 234
7.ALSBNLESEFEN 64,000& *5B0X 320
g.2l&llel= 20,000& »20l «12& 480
(2g+%) 500
1.8 50,000& x1H*10& 500
(=S &Htl) 3,780
12y Regsag A
7,000& x5A1x9H «12E 3,780
(Ol &rE2E) 12,269,000 *—20% N2,453
02 32244 13,985 13,412 573
(B22= < MA) 10,464
1.282 2,880
Jb. &8t 250 x120244 123 360
Lh. &91 1,750 x12024 123 2,520
2. 8J1= 460,000 * 12 «80% 4,416
.4ot=ER= 170,000& » 12 2,040
4. 2FNERE S 200,000 =23 400
5.2 HYAMES 17,000 x2CH =122 408
6.01EXEER 110,000 «2CH*12] 220
TASAMEY MeBaE
100,000& 10 2 +13] 100
(¢ =dl) 2,996
1.AIR A 1,300& *4 £ *BAl 2t*90! +80% 2,996
(A& EBIS XYl 2,078
1. 8AMAS R X 1,000, 0003 *80% 800
2.01EX=A ¥ RFUH 200,000 »2CH 400
3. 87 X2y 21,0003 «1CH~12& 252
4. HAEH RX22/H]
100,000& *6CH 13! *80% 480
5.2 &0AARSAIESH 12,1003 <128 146
(ol &= 2) 15,538,000 *—10% A 1,553
202 O4H| 22,800 27,600 A4,800
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SH: SRS
M =0l #F MO T2(RENEOIS)

ool EOIMESY (S5l &2
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 giﬂgfﬁ HRs2
FLEHEOIS 884,887 821,394 63,493
F0 @Y He T2 (RHEO0S) 173,620 170,520 3,100
FoHHE2Y 173,620 170,520 3,100

SEHEXJ 140,360 142,060 21,700
301 Et2 a3z 140,360 142,060 21,700
05 S-cl-gtEaEssEas 140,360 142,060 21,700

| SZLgLB S| 137,760
FolEgx= 200,000 #428 123 100,800
L. &3 200, 0003 42 »23] 16,800
Ct.alel+=% 20,0003 42 23| 12& 20,160
2.8t &4 25,0003 52 *23] 2,600

FUXNXHEIZZ2 OS2 Y 28,020 23,220 4,800
201 Bt Al 28,020 23,220 4,800
01 AR 2teld| 28,020 23,220 4,800

(Lursyl) 1,800
1. ZOIXXIME 2 Sl 150,000 * 122 1,800
(Ol abE 2t) 1,800,000& »—10% A 180
(2g22¢) 26,400
2. UK HEHZAL=E 26,400
Jb. 82 M0 25,0003 x8A| 2kx12& 2,400
S 25,0002 *8A| 24+ 122 2,400
C.otua 25,0003 *x8A| 2t+12& 2,400
cHAEZHA 25,0003 *x8A| 2t 12& 2,400
ORIt A 25,0003 *8Al 2t+12& 2,400
. &= w4 25,0003 *8Al 2t+12& 2,400

A-1. 8201 DA (£3)
25,0003 *8A| 2tx12& 2,400

A2 B 20| A (53)
25,0003 *x8A| 2t 12& 2,400
Ot.==012l 3t 25,0003 *8A| 2tx12& 2,400
AH.2ItelLiwa 25,0003 *8Al 2t+12& 2,400

I ARREN =T DA

25,0003 *8A| 2t 12& 2,400

AT 22 5,240 5,240 0
307 21zZtol ™ 5,240 5,240 0
05 BI”tREZ 5,240 5,240 0

PETIE LT E e PN
200,000 x2 7 A * 128 4,800
2ENFIIGHN S22
110, 000& #2042 %23] 440
HE2HHH (REHE0FS) 711,267 650,874 60,393
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2N REHEOIS
M HHS2HAH(PEAX0IS)
cHel: ol eyl (el &2
= % ol (s - T Mz =
A -3 -H2A(SH) - HEAMY - BES Of &F 2K Ol AF o8 Hlns2t
ol 29y 618,359 552,026 66,333
ol Ayl 618,359 552,026 66,333
101 o1 214] 595,259 529,766 65,493
01 24 595,259 529,766 65,493
(23) 410,492
1.52(3052) 3,698,200 x 1 128 44,379
2.62(2552) 3,083,100 »2H 128 73,995
3.72(1552) 2,369,900 6% x 122 170,633
4.82(632) 1,588,500 x4 x 12 76,248
5.0/582(2852) 2,612,900 x1H » 122 31,355
6. MM 396,610,0002! *3. 5% 13,882
(&H0oia=¢) 48,571
LA 2,483
ot 62UR(185 )
2,523,0002 2% x4 . 1%+ 128 2,483
2. 8244 410,492,000 %1/12 34,208
3.82+g0u23 11,880
Jt.254 0] & 130,000 x 1%« 12& 1,560
Lt.20 0 & ~254 012 110,000 x4 » 122 5,280
Ct. 15801 4~2014 012 80,0008 »2H » 122 1,920
2t 100 &~154 012 60,0002 * 1 *128 720
OF.5401&~10E012F 50,0002 *4F *12¢ 2,400
OHed+H) 14,361
11529 9,000
Jb B X 40,000 10 *12& 4,800
LE.JIEFES 20,000%16% * 12 3,840
Ch.OrAFZ2 (AT RHE O] &)
30,0002 1 x 128 360
2. XSl =& 5,361
Jb. NS5 446,700 «3% x4 | 5,361
(§4224+H) 14,160
1.E+324Y 14,160
Jh.E224e 70,0002 %13 «12& 10,920
Lt. ol 30,0002 x4 x 128 1,440
CHAISIZSXES24Y 30,0002 +3H *12¢ 1,080
H ARSI SXYRSSIta2
30,000 x2 % 12 720
(ZU224H) 44,785
TAIZIQA2 24 8,078 +33AI2t*14% %128 44,785
(AHB2AS) 62,890
1. FUZAlY) 130,000 * 142« 128 21,840
2. BEFIHI 410,492,000 %1.2/12 41,050
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SN REHEOIE
HE: #H2YAY (LHEOS)

Sel: Jl= 2| (oA
_ _ pSNE e
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
EENEE 16,0002 *3CH * 122 576
9. HHIBRE S 450,000+ 1CH*15] 450
10. 84 B R XS R 30,0002 *1CH 13| 30
1.0gxEEE 155,000 2CH *15] 310
12, #HXISHIIBANSLR
70,0002+ 1CH 13| 70
(A EEHISXIHI) 4,861
1LEANAS R 22| 1,000,0002! 1,000
2. #H S| 100, 0002 *2CH 200
0IEXRX L R 120,000 *2CH 240
4. #HXZ SBU 200,008 * 10122 *80% 1,920
5.M™RY 22l 100, 000! *43 400
6.24JIRX el 50,0008 *3CH 150
7. 200N AKX 4|
12, 1002 *274 A+ 122 291
8. XI 221 AAI AKX 2 4|
30,0002+ 1} * 122 360
9. BZALRX 24t 300,0002 17| 300
(Ol A=) 28,486,0002 *~10% N2,848
202 01| 35,040 42,720 A7,680
01 2L 04l 8,640 11,520 ~2,880
1. 2001t 20,0009 *9 4%+ 122 8,640
02 2 %401t 26,400 31,200 4,800
=R 220,0002 * 10+ 122 26,400
203 YR =X H| 11,460 11,460 0
01 J|ZeYARFAY| 7,900 7,900 0
1olsegy ey 7,900,0002! *1 7,900
02 HRIAA LS TIY| 560 560 0
1L H I RETY| 40,0008! * 14 560
04 BEN2YLRENY 3,000 3,000 0
|LENSYYRENY| 250,0002! * 122 3,000
204 X @4 A Y| 1,800 1,800 0
01 X 2Z R 1,800 1,800 0
LRSI ARERY| 1,800
o E= 150,0002 * 12§ * 128 1,800
405 R+AHE S| 1,650 850 800
01 AL SZF S| 1,650 850 800
1. EX0I0IK A Qe 500,0002! *174 500
2. A3 250,0002!*1CH 250
3.4&®D 400,0002 *14! 400
4.2 HHIEDI 500,0002 *174 500
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SN

& N BHOYZR(ARES)
ol 2y 7o)
X
A .o (B1) - HRAIY - AR Aro e 2
HE2S 759,011 724,107 34,904
= HOEP(A2S) 113,086 106,746 6,340
B 29 113,086 106,746 6,340
A& 96,470 90, 130 6,340
301 B AF 96,470 90, 130 6,340
058 -2l -etEEs 96,470 90, 130 6,340
| ExeT 2 @ 9,120
o224 200,000& «29H «12& 69,600
L. &2 200,000& 299 x23| 11,600
Ct.3| ol &A= 20,0003 x29H »23| « 12& 13,920
2.9t & E 25,000 x27H 23| 1,350
QIXMXIME T2 )M 12,096 12,096 0
201 L2 IH| 12,096 12,096 0
01 AtR22tel bl 12,096 12,096 0
(2ers=8dl) 1,440
1. =X HEH 2 120,000& x12& 1,440
(olarE2) 1,440,000& *-10% A144
(28+4) 10,800
1. =R ME ZA=E 10,800
b AL ) 25,0002 *4A| 2+x 128 1,200
Lt A= ) 25,0002 x8A| 2tx12& 2,400
. 22=0l 25,0003 *x8A| 2+ 12& 2,400
et 4l 25,0003 *x8A| 2+ 12& 2,400
1| ESEE=2 25,0003 *8A| 2+ 12& 2,400
M= X 2Zel 4,520 4,520 0
307 2I2tol A 4,520 4,520 0
05 BIZt2 & = 4,520 4,520 0
1.2 30 = 170,000& 200 A 1200 & 4,080
=P\ ESPIRIPSIN - =
110, 0002 *2JH 2= *23] 440
e HI(22S) 645,925 617,361 28,564
H 556,334 524,648 31,686
S22l 556,334 524,648 31,686
ol 2| 534,494 503,648 30,846
= 534,494 503,648 30,846
(83) 370,221
1.53(3088) 3,698,200 x1H «12& 44,379
2.63 (265 8) 3,116,900 x2H «12& 74,806
3.72(1388) 2,255,000 «5F 123 135,300
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SN B2E
M W2 (REE)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
4.82(5&83) 1,518,500& »2& 123 36,444
5.92(4&88) 1,302,000& »2H «x12& 31,248
6.71s73(31&83) 2,960,300 x 18 »128 35,524
7. M IHAH 357,701,000& 3. 5% 12,520
(4H=¢) 42,477
1L.UHRSRAY 2,385
Jhe=UR(1653)
2,423,200 x2H x4 1%+ 128 2,385
2.82+¢ 370,221,000&4%1/12 30,852
3.82+Eit= 9,240
Jb.25E8 0l &f 130,000& »3E x12& 4,680
Lt. 2001 &f~25E 018+ 110,000 x 12«12 1,320
Ch.10&0l2af~15H0/8 60,0008 x2E *12& 1,440
ch.5& 0 &~10E 0| 2t 50,0003 «3Z =122 1,800
(OHHEd =) 9,947
1.5+ 8,160
It o= AF 40,000 x8H *12& 3,840
LE. JIEFIES 20,000 x 15«12 3,600
CH.OAS (AU AFE O &)
30,000 x2H *12& 720
2. tdstHl =& 1,787
Jb.nsstd 446, 7003 x 18 #47| 1,787
(E=22=¢) 12,960
1.5+822 12,960
t.s22=4 70,0002 x 128« 128 10,080
LB RE 30,000 x4H x12& 1,440
Ch AR =SXER2+E 30,000 x3H *12& 1,080
ch Al SXE RIS
30,000 x1H*12& 360
(2222 41,586
TAIZQZ25E 8,078 +33AI 2tx132H +12& 41,586
(AHIEAS) 57,303
1. 23U S A 130,000 13« 12& 20,280
2. G250t 370,221,000& x1.2/12 37,023
204 MR =HAH| 21,840 21,000 840
02 a2 &4 21,840 21,000 840
1. A= 24H 21,840
.55 250,000 x1E *12& 3,000
Lt.62 155,000& »2H 123 3,720
Ch.75 140,000& 6E «12& 10,080
ct.8~9= 105,000& »4E x12& 5,040
Jl2&hl 89,591 92,713 N3, 122
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N 22S
HH: HHRIGH(ZES)
e D23l (&9 HM
i, _ _ pSIEN=
A -3 -H2A(SH) - HEAMY - BES O AF K 'Oﬁ/'\ja'g Hos
[ e N 150,000 13 150
9.2F0HIZIISUHL XSG 2,640
F.&E123 70,0002 x2)H A+ 123 1,680
Lt &ot=E2 40,0003 «20H A+ 128 960
(¢d=2dl) 4,844
1.EAJIAAIER 500,000 6 3,000
2..224 1,600% *4 4 *6 Al 2H+60L «80% 1,844
(A& EBIS XYl 4,342
1LEAMAS 2,000 *858.3m *50% 859
2. 4ZYEEH 100, 0003 *2CH *80% 160
3.EAMESDI 100, 0003 2CH 200
PSS RS 20,0002 «3CH*12& 720
5. SYEXNE FAE=H
120,000 1 CH* 122 *80% 1,152
6.&=JIFXl2teltl 100, 000& ~6CH 600
7.2 E0IAAE S22t
12,1003 =201« 122 291
8. X2 AAAE X2t
30,0003 «1CH* 122 360
(Ol &HE 2E) 23,306,000 *—10% 22,330
202 04l 32,400 39,600 AT,200
01 =Liodbl 8,640 11,520 A2,880
.20 20,0002 x9L »4H 123 8,640
02 ZH0HI 23,760 28,080 4,320
1.2 XN 220,000& x9H x12& 23,760
203 ¥R =&l 10,080 10, 120 A 40
01 J|22E PR 6,600 6,600 0
1122 RF=8H| 6,600,000 14 6,600
02 FRAINHRF A 480 520 A40
1. R =] 40,000 =12 480
04 RAN2EHRFEH 3,000 3,000 0
1L.RA2ZYRF=LH 250,000 122 3,000
204 MR =AY 1,800 1,800 0
01 A Mg PH 1,800 1,800 0
1AM YR=E] 1,800
.= 150,000& 1E 123 1,800
405 KtH&HE S 6,800 3,880 2,920
01 HME =SZHSHI 6,800 3,880 2,920
1.dete) 4,000,000 = 1CH 4,000
2. =S| 2,300,000 *1CH 2,300
3.2MNED 500,000 = 1CH 500
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M EHEIS
Mo 0l #F MO T (EHEIS)

ool ZoIME 2 (el a2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SFSRES 679,199 666,660 12,539
F0 Y He S (HEIS) 130,284 127,360 2,924
FoHHE2Y 130,284 127,360 2,924

SEHEXJ 104,180 106,380 A2,200
301 Et2 a3z 104,180 106,380 A2,200

05 S-cl-gtEaEssEas 104,180 106,380 A2,200
.82 a8t 101,680
FolEgx= 200,000 *318 123 74,400
L. &3 200,000& *31H *23] 12,400
Ch.alo &3 20,0003 x31H #23| x12& 14,880
2.8t & =+4 25,0003 x50H »23] 2,500

FUMXHAHEZ DS RH 23,820 18,696 5,124
201 Bt Al 20,820 15,696 5,124
01 At 2teltl 20,820 15,696 5,124

(geta=Hl) 1,800
1.F0IXXIdH=EHI 150,000& «12& 1,800
(Ol abE 2t) 1,800, 000& *—10% A 180
(29+4) 19,200
1. X2 AL 19,200
b AL RCHA 25,0003 *8Al 2t*12& 2,400
Lh.E7na 25,0003 *x8Al 2t*12& 2,400
=S AHdUlwna 25,0003 *x8A| 2t+12& 2,400
ct.==SAH WA 25,0003 *x8A| 2t 12& 2,400
Ot.st=20na 25,0003 *8Al 2t+12& 2,400
HE.OISMEWA 25,0003 *8Al 2t+12& 2,400
A OFIEF R WA (=3)
25,0003 *8A| 2tx12& 2,400
Oh. ORI EF R WA (E3)
25,0003 *x8A| 2t 12& 2,400
405 RHebFE S H| 3,000 3,000 0
02 &Nl 3,000 3,000 0
1.022 0722l 3,000,000 14 3,000

AR Xl2e] 2,284 2,284 0
307 21Ztol 2,284 2,284 0
05 QIZtRIEZ 2,284 2,284 0

.20 2 2eltfds=+2 172,000 «12& 2,064
2. EANGEEANH =
110,000 104 2 %23] 220
HY2HHHI(EHAN1S) 548,915 539,300 9,615
el | 476,726 464,392 12,334
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5 FSRES
HY2HZUI(EHE1S)
el
S HE - S(EH) - NRAY - BES sk oy e
A2 A| 476,726 464,392
101 21 24| 457,826 445,492
01 2= 457,826 445,492
(22) 319,271
1.52(302 ) 3,698,200& 1 x12& 44,379
2.62(2458) 3,047,300 x2H 122 73,136
3.72(1588) 2,369,900 x5H 128 142,194
4.82(653) 1,588,500& x 1~ 12& 19,062
5.92(358) 1,237,600& x2H 123 29,703
6. X <& dl 308,474,000& *3.5% 10,797
(M0=) 36,892
1.UHSRERES 1,286
.62 H=( )
,612,6003 *1H *4 1%+ 12& 1,286
2. 82=¢ 319,271,000& *1/12 26,606
.32 It= 9,000
Jb.25E 01 & 130,000& 1~ 123 1,560
Lt.20E 014 25012 110,000 2«12 2,640
Ct. 155014 204018 80,0003 +12& 2,880
ct. 103014 154018 60,0003 «1H«12& 720
Ot.5&014F 10= 018t 50,000 x2H 128 1,200
QOHHEE=Y) 6,827
1. 0154 5,040
DI BN, 40,0003 x6E «12& 2,880
Lt JIEES 20,0003 x9H «12& 2,160
2. S B 1,787
b NsSEH 446, 7003 *1H x4D| 1,787
(E=22=2Y) 10,560
1.5 2xH 10,560
t.s2RE 70,0003 *10€ ~ 1228 8,400
LRI 30,0003 +x3E «12& 1,080
G AtEIEXE R+ 30,0003 x2F*12& 720
ch Al SX YRS =
30,000& x1H +128 360
(Zn224) 35,188
LA 22 8,078 *33AI2H+«11H«12& 35,188
(AHIEAS) 49,088
1.3 U Al 130,000 *11E 128 17,160
2. BEF | 319,271,000&%1.2/12 31,928
204 H QA8 AY| 8,900 18,900
02 =22l 18,900 18,900
1. 822 =4l 18,900

_66_




SH: EBHEIS
HH: HH2AAHI(EHE1S)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
t.5=2 250,000 x 18« 128 3,000
Lt.62 155,000& »2H x12& 3,720
Ct.7= 140,000& 5 x 123 8,400
ct.8=-9= 105,000 «3&H »12& 3,780
Jl=2&Hl 72,189 74,908 A2,719
JI=238l 72,189 74,908 A2,719
201 Zegr24 27,239 27,128 111
01 At 22l 13,233 13,446 A213
(ger=~=&Hl) 11,296
1.2 M =28 300,000 11 3,300
2.0z g EMEESHI 100,000& »12& 1,200
B.EEHEUW/EEFHl 200,000 *5CH 43| 4,000
4. SADIR2MASIIEH AL
150,000 201 «33! 900
5.e1302l2+Hl 20,000 x204*12& 480
6. LAY BN L]
64,0002 x 12t A+ 123 768
7. FUSESE2EIBN2YY
27,0003 «22t A %12 648
(2g+%) 500
.= 50,000 x1E»10& 500
(S&l) 4,620
112 esssS23 A
7,000 541« 11 » 12 4,620
(Ol &rE2E) 15,916, 000& «-20% 23,183
02 SE=2gH| 14,006 13,682 324
(B2 LHA) 12,970
1.2ER= 6,660
Jb. et 2503 1204 x 128 360
Lh. S91 1,750 *3004 x 12& 6,300
2.40t+=R= 40,000 12& 480
.M RE S 50,000 *22 100
4. 87123 450,000& 12 5,400
5. 33t xEAE 150, 000& <12/ 150
6.EEZMAUQBHUAER 15,000& 123 180
ONE=E=s=[E=NI[D 2,592
1.8AAE 1,897 & +677.69m 1,286
2.BAMESED 200,000 = 1CH 200
3. 87| 100, 000& +2CH 22 400
4. HELSHHI 100,000 *1CH 100
5.&=7| 50,000& =24 100
6.= QI EHOIAI A E 12,100 1CH =122 146
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SN
X XH .
S Tt

ok

S FSREES
HY2AZHI(EHE1S)
Jl=238l

CHIEAY - BAS

20
B
2

7. K2 Q1A A AEl 30,0003 +x1CH+12& 360
(Ol &rE2) 15,562,000 & *—10% A 1,556
202 044l 27,600 33,600 6,000
01 = LHAbI 6,480 8,640 N2,160
1.2 20,0002 92 x3% » 122 6.480
02 2 H0OHI 21,120 24,960 A3,840
1.2 AN 220,000& 8~ 122 21,120
203 ¥ R =ZIY| 10,040 10,080 A40
010/ 22EFERFA 6,600 6,600 0
1 22ILR= 6,600,000 «1& 6,600
02 AN HRFA 440 480 A40
LERIMYRE 40,0002 x 11 440
04 FEAZESRFEH 3,000 3,000 0
1.RA2IERFLH 250,000& 128 3,000
204 2 2= HH| 1,800 1,800 0
01 AH I R4 HAY| 1,800 1,800 0
1L AMIAREAY| 1,800
h.s% 150,000& 18+ 123 1,800
401 Al & HI L= Y| 880 0 880
01 Al Hl 880 0 880
1. eI X0 e XIS A
880,000 880
405 XA St 4,630 2,300 2,330
01 MM =SZH=HI 4,630 2,300 2,330
1. d=te] 4,000,000& 4,000
2. glEelE okt 126,000& +5H 630
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SM: EfE2S
Ha: X0l H MO T2 (EHM2S)
ol FOIME2Y (B9 &2
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Off &k o4 il i~ o HRs2
EN&2S 658,050 693,466 35,416
=0l #F MO TR (EHH2E) 141,616 141,816 A200
ZUMEHS 141,616 141,816 A200
SoEX 2 121,300 121,500 A 200
301 UBHR A 121,300 121,500 A 200
BG5S -2l URBSTAI 121,300 121,500 A200
| SE2gUHSH) 114,800
o JlEay 200,0002 x35%4 122 84,000
Lt 4013 200,0002 x352 23| 14,000
Ch. SIQI&A4T 20,0008 %358 %25« 122 16,800
2. BtE4Y 25,0002 13024 x23] 6,500
ZOURNXHMHIRIY 29 18,096 18,096 0
201 LBr2 Y| 18,096 18,096 0
01 AL 2r2/Hl 18,096 18,096 0
(Lor2l) 1,440
1. FOXXHEH S L 120,0002 * 122 1,440
(Ol &r R 2) 1,440,00021 ~10% A144
(2g+9) 16,800
1. FOITXIME L ARG 16,800
obetnmal 25,0002 *8A| 2+ 122 2,400
LhAZRGHA(ES) 25,0002 #8AI 24122 2,400
CHAZZHA(SE) 25,0002 *8AI 2122 2,400
BHAZXUA(DS) 25,0008 *8AI 2t 122 2,400
Oh. @Jtma 25,0002 B A| 24122 2,400
B AEYEDA 25,0002 *BAI 2122 2,400
A ESIIQDA 25,0008 *8AI 2128 2,400
HAR B 2,220 2,220 0
307 SI2H0| & 2,220 2,220 0
05 012t 2 2,220 2,220 0
T EIETEI ! 160, 0002 * 122 1,920
2. BAEIIOHEEY 50,0002 *23| 300
HHSAAY| (B H2S) 516,434 551,650 £35,216
ol oyl 445,517 469,215 ~23,698
ozl 2 oyl 445,517 469,215 £23,698
101 21218 427,877 449,475 A21,598
01 24 427,877 449,475 ~21,598
(23) 294,948
1. 52(305 %) 3,698,2002! 1%+ 122 44,379
2. 63(285 ) 3,175,800 %22 x 122 76,220
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FH: HHH2S

A HH2AAHI(EHH2S)
chel: ol | (el a2
S BB SR (B) - NEAY - BAS 0f & o Soe DB
3. 72(1588) 2,369,900& x2H x 128 56,878
4. 82(653) 1,588,500& »4H x12& 76,248
5. 92 (48 3) 1,302,000 »2H 12 31,248
6. M<IH&H 284,973,000 *3.5% 9,975
(4 =¢) 32,979
1. 2= 294,948,000 *1/12 24,579
2. d2=8t= 8,400
Jb. 25301 & 130,000& »3E x12& 4,680
Lt. 2004 25E40/2¢
110,000& x 18« 12& 1,320
Ct. 5F01a~108 012 50,000 x4 »12E 2,400
(OHHER =) 6,827
1. &8 5,040
Jb. B X 40,0003 «8H =12 3,840
Lt JIEHHS 20,000 x5+ 122 1,200
2. NHSHIEXE+HE 1,787
b, DSsHH 446,700 x1& 40| 1,787
(E=22=H) 11,280
1. S=3esE 11,280
. 28+ 70,0003 x10E 128 8,400
Lt SIEgR=E 30,000 x3H *12& 1,080
Ch. AlelSXER+g 30,0008 +3E*122 1,080
ch. Al S ARt s
30,000 x2H » 128 720
(Zz2R=¢) 35,188
1LAIRAZ R Y 8,078 *33AI2H+11H <122 35,188
(AHI2AS) 46,655
1. 8N4l 130,000 118« 123 17,160
2. BEF Ot 294,948,00024%1.2/12 29,495
204 MR AY| 17,640 19,740 A2,100
02 g2 &4 17,640 19,740 2,100
1. A3 2XH| 17,640
Jb. 52 250,000& x 18« 123 3,000
Lt. 62 155,000 «2&H »12& 3,720
Ct. 72 140,000% x2E 12 3,360
ct. 8-9= 105,000 x6E x12& 7,560
Jl=34l 70,917 82,435 A11,518
Jl=3&8l 70,917 82,435 A11,518
201 eI 29,837 28,585 1,252
01 ALR 22l H| 13,603 13,284 319
(Ler23dl) 11,758
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2A: BjE2sS
T U2 A (HN2S)

el JlE3sl (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
1. 2AN2SE+=EHI 300,000 11 3,300
2. dOIMEBHEH/EY
200,000 & »4CH «62] x80% 3,840
3. e&sdel=2 20,000& 20l =128 480
4. SAH/BAIEH 150, 000& 20 32 900
5. FUSESEz=L=2EX 27,0002 20box 540
6. UASHNESEX 64,0002 * 18box 1,152
7. SAETX 16,000 *24box*90% 346
8. OIHIZLHRANRES 100,000& =122 1,200
(2g+g) 500
IR E RS, 50,0002 * 12 %10 500
(2aH) 4,620
I Jl2geassagay)
7,000 #5481« 11 x 12 4,620
(Ol &) 16,378,000 *—20% A3,275
02 3324l 16,234 15,301 933
(ESQSLHA) 12,550
1. RE= 5,136
Jb. &gt 2503 x2004 x12& 600
Lk, S91 1,750 x24024 x 12 »90% 4,536
2. dlls 600,000 * 122 »80% 5,760
3. dot=ke= 55,0003 «12& 660
4. BHNERES(AMESE) 70,0008 +23] 140
5. ZEZMAUQIHY R=  16,000& «2UH«122 384
6. XL eg 130,000& 12l 130
7. SYHNHEEERE 250,000 1CH*12] 250
8. SN HAE 60,0002 *1CH*12 60
9. SHEXH XS XA 30,0002 x1CH*13] 30
(¢=Hl) 2,080
1. Notalold & F=2IXXIHE
1,300& 4 £ *5A1 24+80 2,080
(A& EbBI=XIYl) 3,407
1. BAAS 2,000& *633.38m’ 1,267
2. e SHHI 300,000& * 14! 300
3. ZAIE ST 150,000 «1CH 150
4. =) 16,000 x2CH~ 12 384
5. dEXERFH4cldl 80,0008 x1U*12& 960
6. 2Dl 100, 000& =24 200
7. SEQIAIARFX 12,1003~ 1CH+ 123 146
(Ol &t E2E) 18,037,000 *—10% A 1,803
202 044l 27,600 36,720 9,120
01 2K 6,480 8,640 N2,160
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2A: BjE2sS
T U2 A (HN2S)

Sl =23 EER-E
SN SAFA) - MEAD - BES Off &+ ot gggi; HmsS2
IRECT 20,0002 <9 x3% » 128 6.480
02 2 0d | 21,120 28,080 6,960
1. 0| 220,000 *8% * 128 21,120
203 P2 EXH| 10,080 10,080 0
01 J| 2 2L Y2 FTH| 6.600 6.600 0
1.0l 22dg x| 6.600,0002 » 1 6.600
02 HRAJtA 2 FA b 480 480 0
IE=E=PNG= I 40,0009 » 12 480
04 RARIYRFTL| 3,000 3,000 0
LAY =T 25000091 <128 3,000
204 Z P A 1,800 1,800 0
01 A IR 4HA| 1,800 1,800 0
1L EMIHRFAY| 1,800
ez 150,000 « 1% * 128 1,800
401 Al & HI L= THY| 1,600 0 1,600
01 Al 1,600 0 1,600
1. FLUXXIME S22t0lE 4X|
1,600,0002 %14} 1,600
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S S
M RO oMY @O C2(IYS)
ool FoIMEHSY (Etel: &8
_ _ _ Muo
SN FB - S2A(3) - MEAY - BES 0 &t o4 i HRE2
s 801,440 797,203 4,237
F0 MY WO T (PYS) 185,380 183,756 1,624
ZoIMESY 185,380 183,756 1,624
S8y X8 159,940 165,440 5,500
301 LAz 159,940 165,440 5,500
055 -2 -BHyEsS2AZ 159,940 165,440 5,500
IR=F-"F8=FIE 1] 157,440
rolgsg 200,0009! *48% * 12 115,200
Lh &0 2 200, 000! *48% *23| 19,200
Ch3IOI&A4aS 20,0008 «48% 23] 128 23,040
2Bty 25,0002 502 *23] 2,500
ZORAMEHTR Y 29 22,820 15,696 7,124
201 L Br2 2| 20,820 15,696 5,124
01 Ak 22l 20,820 15,696 5,124
(Lergl) 1,800
17X X M E 2 2| 150,0002! * 12 1,800
(ol arE2) 1,800,000 *~10% A180
(2g+9) 19,200
1.7 OIREXI M 2 AL 19,200
JhHAATR 25,0002 Al 2122 2,400
Lh.CHOIOIERIA 25,0002 Al 2122 2,400
Chotena 25,0002 %8 Al 2122 2,400
2h.eJitma 25,0002 *8A| 2122 2,400
OhEZRO0IDA 25,0002 Al 2122 2,400
bh.& =0l mal 25,0002 Al 2122 2,400
A28 25,0002 *8AI 2+ 122 2,400
Ob.O{RIOIHAAT X 25 0002 *8A| 2t 122 2,400
405 XtoHE S| 2,000 0 2,000
01 AL S E 3 S| 2,000 0 2,000
1. Z0IA R 200,000 *107H 2,000
HARX el 2,620 2,620 0
307 8I12+0| ® 2,620 2,620 0
05 SI2tRI 2 2,620 2,620 0
IR R 200,000% 122 2,400
2HMTIIGH S+ 2 110,000 *23| 220
HHSAFY (RS S) 616,060 613,447 2,613
ol 2 gy 531,371 519,856 11,515
ol 2 gyl 531,371 519,856 11,515
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2N PYUS
HH: HSEAY(PYS)
cHol: ozl 2oyl (ol @2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
101 1 214] 510,371 499,276 1,09
01 2= 510,371 499,276 11,095
(22) 348,367
1.52(255 ) 3,556, 1002 x1H 128 42,674
2.62 (245 2) 3,047, 3002 %22 « 122 73,136
3.72(1458) 2,313,900 x»4H «12& 111,068
4.82(458) 1,449,900& x2H «12& 34,798
59235 8) 1,237,600& 32 123 44,554
6.71s82 (265 8) 2,529,600 x1H 128 30,356
7 HM LY 336,566, 0002 *3. 5% 11,781
(&H0i=¢) 45,634
ML P 2,803
H58UR (255 S)
3,083, 10024 +124 x4, 14+ 122 1,517
Lt.62U (202 2)
2,612,600 x1H *4. 1%<122 1,286
2. ¥24Y 348,367,0002%1/12 29,031
33249 13,800
Jb.25E 0l &t 130,000& »4H 123 6,240
Lt.20E 01 &f~25E 012 110,000 2«12 2,640
CH. 15801 &~209 012 80,000& x2H *128 1,920
ch.58 0l &~10 0] 2t 50,0002 x5H x 128 3,000
SR E=)) 6,347
1.5+ 4,560
Jb B S A 40,0003 «4Z «12& 1,920
L OIEDES 20,0003 x 11 ~12& 2,640
2. XHSHIE X+ 1,787
Jb.nsE 446, 7003 »1Z *47| 1,787
(5+224+9) 13,320
1.SeA2ey 13,320
h.s22=E 70,0003 12«12 10,080
S 30,000& »4H 128 1,440
A2 SRR 30,000 x3H 128 1,080
VIR
30,0003 x2H 122 720
EEERE) 41,586
LA 225 8,078 *33AI2H+13H «128 41,586
(AH2AS) 55117
1.3 U Al 130,000& »13Z x12& 20,280
2. 4E S0 348,367,000 x1.2/12 34,837
204 X248 2| 21,000 20,580 420
02 =22l 21,000 20,580 420
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2N PYS
E: HHSYAH(TYS)
el QS| (e &2
RA B SA(BH) - NRAY - B 01 e HRE2
EEEES 21,000
oh.53 250, 00021 *1% * 122 3,000
Lt.62 55,0002 2% * 122 3,720
Ch.72 140,0002 *42 * 128 6.720
2893 105,000% +62 122 7.560
o= 84,689 93,591 £8,902
o=l 84,689 93,591 £8,902
201 LBt | 38,019 37,931 88
01 AtR2t2lt] 18,176 18,716 A540
(er2gH|) 16,215
IEEE=S8= 1 300, 0002 *13% 3,900
2.0 ZLRANREE 100,000% * 122 1,200
3.ZRIEEY 180,000 ¥5CH 73 +90% 5,670
4. 2NFSIIEY 50,0002 #2CH #35] 900
5. ZRIECY 150, 00021 *5CH *50% 375
6.2157]2/2 20,0002 %30} * 128 720
(RIESIEIE] 25,0002 520} » 128 600
8.91 57| 2H21 4 & bl 300, 00021 %15 300
9.70S=ESE=SZEN|
27,0002 *4boxx 122 *90% 1,167
0.0 AEYLIS+EX
64, 000! *2b0xx 122 *90% 1,383
(29+9) 500
Y= 50,0002 * 1% %102 500
(SzH1) 5,460
112 essS2 A
7,00021 %551 %132 + 122 5,460
(UX2) 420
IE=EPIETp 35,0002 %104 * 128 420
(Ol otz 2) 22,095,000%! *-20% ~4,419
02 B2 Y| 19,843 19,215 628
(ZZ22LHA 18,991
282 5,967
oh. e 25091 %25021* 122 %90% 675
Lt.S0) 1, 75021 %28021 122 +90% 5,292
2. 7|2 950, 0002 + 122 11,400
3.4 .51 4523 100,000% * 122 1,200
4. EHUNER 27,0002 * 104 » 128 324
5.8FMLARLZ(ALSE) 50,0008 23] 100
EETIESI 3,056
IE=NEE 1,000,0002 1,000
2.3 T B S I 400,000% «1CH 400
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SN PYS
Y MY 2HAH(RLS)
&t D=3l (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
3.2AE ST 100,000 = 1CH 100
4. ") 200, 0003 *1CH 200
5. gD 100, 000-& = 10CH *80% 800
6.2 =7l 50,0002 «1CH 50
7.2EAARMSRIEH 12,1002 +12& 146
8. AZAAMAAESAIE4Hl  30,000& 122 360
(ol abE 2t) 22,047,000& »—10% A2,204
202 044l 32,400 39,600 27,200
01 =2 A bl 8,640 11,520 A2,880
1.2 Wb 20,0003 9L x4H 123 8,640
02 MY 23,760 28,080 24,320
1.2 M 220,000 9 122 23,760
203 L2 EAY| 11,420 11,460 A40
01 J| 22 P RF=8H 7,900 7,900 0
1.0/ 22 LRF8| 7,900,000& 14 7,900
02 RIS F=EY] 520 560 240
1.3 2Jtat g 2= XH| 40,000 x13Z 520
04 FEN2ILRFEI 3,000 3,000 0
1.2N2ZLRF4I 250,000 «12& 3,000
204 MR A H| 1,800 1,800 0
01 M MSHR=H A Y| 1,800 1,800 0
1A MG HRF A 1,800
H.sE 150,000& x1H ~12& 1,800
405 KtatE =S| 1,050 0 1,050
01 At =S HSHI 1,050 0 1,050
19081 350, 0003 *3H 1,050
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sy SR ===
HM: F0 MY B T2(RES)
SRl FOIME 29 (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
2= 713,253 591,568 121,685
=0 AN HO TR (ASE) 100,750 104, 100 A3,350
FOIME 29 100,750 104, 100 A3,350
SeE I 92,490 95,840 A3,350
301 Yt A2 92,490 95,840 A3,350
05E -2 BtEsSs8AZ 92,490 95,840 23,350
1. Ed2¢ 91,840
b, JlExg 200,000 282 x 128 67,200
L. &0 2 200,000 28«23 11,200
Ct. 3|9 &AM 4G 20,0002 x28%H x23| x 122 13,440
2. BHALG 25,0002 * 138 23] 650
FONXNEH T2 2 5,880 5,880 0
201 Lpt2AH 5,880 5,880 0
01 AFR2telH 5,880 5,880 0
(er=2H|) 1,200
1. FUXXIME 29| 100,000 * 122 1,200
(Ol AFE2H) 1,200,000 —10% A 120
(29xH) 4,800
1. FONXIMEH ZAE 4,800
Jb. Molmal 25,0002 *8A| 2t *12& 2,400
L. EfR A 25,0002 x8A| 2+ 12& 2,400
HA S22 2,380 2,380 0
307 g12+0| & 2,380 2,380 0
05 QI2tRELZ 2,380 2,380 0
1. oA 2L 180,000 x 122 2,160
2. BAED |G
110,000 * 1 2 %23 220
HE2FAH (HES) 612,503 487,468 125,035
Qlad 2] 540,404 415,349 125,055
ol 29| 540,404 415,349 125,055
101 @124 4| 520,484 397,709 122,775
01 B4 520,484 397,709 122,775
(23) 361,515
1. 52(30&2) 3,698,200 x1H « 122 44,379
2. 62(3052) 3,225,900 x3H 128 116,133
3. 72(1582) 2,369,900 x3 » 122 85,317
4. 8355 2) 1,588,500 x4 « 12& 76,248
5. J1s82(1782) 2,267,600 x 12 x 122 27,212
6. MM 349,289,000 *3. 5% 12,226
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2N 2SS
HH: HH2YAH(HSS)
ol ol 2| (e e
SN EHHMS(BA) - MRAD - BES Ofl & o8 gggf; HnE2
(&toi==¢) 46,390
1. Hes2d+y 4,623
b 4202305 8)
3,698,200 x 18 »4 1%+ 122 1,820
Lt 58UR(Rs8)
3,270,700 x 184 1% 128 1,610
Ch. 62U (1652)
2,423,200 x 18 »4 1%~ 128 1,193
2. 324y 361,515,000 *1/12 30,127
3. d2=+gJt= 11,640
Jb. 258014 130,000& 4E «12& 6,240
L. 158 0[4-~20 Ofet
80,000 «3&»12& 2,880
CH. 10&014~15E O] gt
60,0008 * 12 * 122 720
2. 501 A~10E DIQH 50,0002 +3% * 128 1,800
OHEd==<) 7,200
1. &= 7,200
Jb. S A 40,000 x8H *12& 3,840
L. JIEHHS 20,0003 x 14~ 122 3,360
(S2224+9) 12,120
1. SeAsd 12,120
. s28+E 70,0003 *11E +12& 9,240
Lt QIEER=E 30,000 x3E *12& 1,080
Ch. Alel=SXE2+=g 30,0008 *3E*122 1,080
2h. ABIZSXYe4gItara
30,000& x2H 128 720
(z22=¢) 38,387
1. AZe2esy
8,078& «33AI 2t 12 » 128 38,387
(MHIHAS) 54,872
1. ZHZAHI 130,000& 12 x12& 18,720
2. SEFJH 361,515,000&4%1.2/12 36,152
204 2 2= HH| 19,920 17,640 2,280
02 =2 EH| 19,920 17,640 2,280
1. 52X 19,920
) T 250,000& 18 ~123 3,000
L. 62 155,000& »3E x12& 5,580
Ct. 72 140,000 »3H x12& 5,040
2. 83~93 105,002 +42» 128 5,040
O J1s82 105,0008 124 x 128 1,260
Jl=dl 72,099 72,119 ~20
Jl=&Hl 72,099 72,119 A20
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27,179
12,644
10,140
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1,200
2,400
200
640
gr2
648
480
500
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5,040
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A3,036

14,535
11,872
5,850
600
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2 +3B0Xx 128

300,000& 12
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200,000 »4CH 3
18,000
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N

3. dOIMERIE EUH/EY
mAlZel &Y
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80

> O

50,000 x1H*10&

a
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0 +5A1x12H <128
15,180, 000& *—20%
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2503 2004 x 128
1,750& 2502 x 12
400,000& 123
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0
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2 *23]
16,0003 1CH* 123
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70,0003 *2CH =1
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1,000, 000& *1JH &~

=]
=

1,300

Il

A
[=}

4

AHE

A2 E 7 A2 2=H]
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SN
X XH .
S Tt

el

M-S (3) - HRAY - BES Aro e =2

(ol abE 2t) 16, 150, 000& *—10% 21,615

202 044l 30,240 33,600 23,360

01 SLHA b 6,480 8,640 A2,160
1. SUHAHbI 20,0003 x9L x3H 123 6,480

02 BHNHYI 23,760 24,960 21,200
1. NN 220,000& 9 123 23,760

203 g =&l 10,080 10,080 0

01 JI 22 RFL8Y| 6,600 6,600 0
1.0/ 22 LRF8| 6,600,000& 14 6,600

02 RIS F=EY 480 480 0
1. 2RI HRFAH| 40,000 x12Z 480

04 FEN2ILRFLHI 3,000 3,000 0
1.2A2ZLRFAH 250,000& «12& 3,000

204 R AH| 1,800 1,800 0

01 M MSHR=H A 1,800 1,800 0
L AMI Y2 ET G| 1,800
H.sE 150,000& x1H ~12& 1,800

405 KtatE =S| 2,800 0 2,800

01 At =S H S| 2,800 0 2,800
1. H=sels 2,300,000 = 1CH 2,300
2. MI|=22=T] 500, 000 *1CH 500
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SA: SUS
o F0l Y WMo TR (SUYS)
el FOIME S Y (eel: &
_ _ _ Muo
SA - SR(E) - HRAY - BES 0 & 24 i HIRE
sSus 809,645 770,098 39,547
=0 ¥y B E2(SUS) 147,746 177,216 129,470
ZoIMESY 147,746 177,216 129,470
SEEAH 129,670 163,940 134,270
301 LAz 129,670 163,940 34,270
055 -2 -BHyEsS2AZ 129,670 163,940 134,270
SR YUSSH| 127,920
obolzay 2000002 +39% 12 93,600
Lt 4012 200,0002 +39% x22 15,600
Ch.3lol 4 g 20,0002 ¥30% *23| * 122 18,720
2.t Ay 25,0002 +35% +23] 1,750
ZORAMHEE IS 15,696 10,896 4,800
201 L Br2 2| 15,696 10,896 4,800
01 At 22/t 15,696 10,896 4,800
(Lergl) 1,440
1.3 XX M E 2 | 120,0002! » 128 1,440
(o &) 1,440,002 ~10% A 144
(29+9) 14,400
1LEURXIME ALY 14,400
bAoA 25,0002 Al 2122 2,400
L AZxHA 25,0002 Al 2122 2,400
CHat=0ima 25,0002 %8 Al 2122 2,400
2t oenA 25,0002 *8A| 2122 2,400
Oh ZOtHlT - S ZELHS)]
25,0002 *8A| 2122 2,400
b Rotm Al 25,0002 +8A| 2122 2,400
AR 2 2,380 2,380 0
307 BI2+0| & 2,380 2,380 0
05 SI2tRIE 2 2,380 2,380 0
RELIETE T 180,0002! * 122 2,160
2HMTIIGH S+ 42
110,000% * 1H 2 +23] 220
HH2AAY (SUS) 661,899 592,882 69,017
olzi2 o] 575,133 510,839 64,294
olzi 2 oyl 575,133 510,839 64,294
101 01214 552,873 490,259 62,614
01 24 552,873 490,259 62,614
(£3) 380,071
1.52(3052) 3,698,200! 1%+ 122 44,379

_81_




SH: SUIS
Y MY 2HAH(SUS)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
2.63(2653) 3,116,900& x2H «12& 74,806
3.72(1458) 2,313,900 x6H 12 166,601
4.82(738) 1,659,000 *1H 123 19,908
59245 8) 1,302,000& x2F x12& 31,248
6.71s72(1858) 2,523,0002 18 x 123 30,276
7. I EH| 367,218,000 *3.5% 12,853
(80 =¢) 45,727
1. 3= 2,894
52U (305 8)
3,225,900& 1H 4 1%+ 12& 1,588
Lt.62UR (215 8)
2,654,400 19 *4 1%+ 123 1,306
2. 82+Y 380,071,000 *1/12 31,673
3.82YoHit= 11,160
Jb. 253 0] & 130,000 »2H «12& 3,120
Lt.203 01 &~25E012 110,000 2«12 2,640
Ct. 15301 &4~204012F 80,0003 «3E +12& 2,880
ct. 103801 &4~15E0|2F 60,0003 «1E«12& 720
Ot.54 01 &f~10= 0] BF 50,0003 +x3H x12& 1,800
(OtHEXSE) 14,241
1.5 8,880
b HH < A 40,0003 x8HE x12& 3,840
Lt JIENS 20,0003 18E 12 4,320
Ch. OS2 (AT RHA O] &)
30,0003 x2E *12& 720
2. 4stH B G 5,361
Jb.NSsH 446,700 *3ZF *47| 5,361
(Sx=2224) 12,960
1.582sY 12,960
.s2R=E 70,000 12F «12& 10,080
Lt IARE 30,0003 +x3E x12& 1,080
CH A EXI g2+ 30,0003 x3H x12H 1,080
ch A EXNSER+EIH3
30,0003 x2E*12& 720
(2B2242) 41,586
1T AIZRI2RY 8,078&*33A12tx13H «12& 41,586
(AHIE2Aa S 58,288
1. 8 Hg Al 130,000& *13F 123 20,280
2. E S| 380,071,000&*1.2/12 38,008
204 M2 HAH| 22,260 20,580 1,680
02 =22l 22,260 20,580 1,680
1. 8= 2=l 22,260
ot.53 250,000& x1E «12& 3,000
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FA sUS
M HY2ITHI(BUS)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Lt.6= 155,000& »2& » 122 3,720
Ct.72 140,000& »7E «12& 11,760
ct.8~0= 105,000& «3E x12& 3,780
Jl=2dHl 86,766 82,043 4,723
Jl=&Hl 86,766 82,043 4,723
201 2egr2g 34,140 32,903 1,237
01 A2 2telH] 13,273 12,591 682
(Ler==&Hl) 10,506
1. 2K2E=3H| 300,000& »13& 3,900
2.0HZEEMEES 100,000& =122 1,200
3.0 EEL 155,000 *50H *32] *80% 1,860
4.dOIEZEES™ 200,000 *3CH*12] %80% 480
5.2 AIEH 120,000& *1CH+33] 360
6.21&J12l= 20,000 #2CH* 128 +60% 288
7.HAE el EY 180, 000& *2CH *33! *60% 648
8.0 2SENEZSEX 64,0003 = 1580X 960
9.FUESESz=EsEN 27,000 *30B0X 810
(29=+¢) 500
1.8 50,000« 1210 500
(2&dl) 5,460
102 R+dS2 =4
7,000 x541x13E 122 5,460
(Ol &HE ) 15,966, 0002 *—20% A3,193
02 33&4H 20,867 20,312 555
(ES23ILHA) 17,904
1.288 7,110
Jb. et 2503 x2004 x 123 600
L. S2I 1,750& %3102+ 122 6,510
2. 8712 800,000 »12& x90% 8,640
3.8otx=2 60,0008 122 720
4. 3BNER2GS(ANEE) 60, 000& *22] 120
5. 2IHAAMER 16,000 *2CH» 12 384
6.8t xE A2 160,000& «12] 160
70 EXHHULE S 60,0003 *2CH =13 120
8.=dIXNHEE= 430,000 1CH*12] 430
0.SUIXNESE S A== 50,000& *12] 50
10. 82N S(SHEXE)
70,000& #22 140
N. SIS S IHA 30,000& *13 30
(¢ =Hl) 1,932
1AIR A 1,500 #5 £ *7 Al 2+ B0 #46% 1,932
(N&EHl=XHl) 3,349
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M BUS
M HH2AAL(SUS)
Sl 123 EER-E
SN -FH . SA(BA) - HPAY - BES Ofl &F o8 gggf; HDZ2
ENEH 1,8902 *597 " *80% 903
2. UETY| 100, 0002 * 14! 100
3.2AE S 100, 000! *2CH 200
4.01Ext 50,000 *2CH 100
5.&4IZHDE 40,0002 *63 240
6. XL (RRM, FHIR X, ~&H)
100000241 CH 128 1,200
7.4 50,000 *2CH 100
CEOISOIAARMSTEAH 12,1002 122 146
9. XI2QIAA AR L 4]
30,0002 +1CH* 122 360
(Oll&arE2t) 23,185,000 +~10% 2,318
202 o4 32,880 36,720 13,840
01 2401t 6.480 8,640 A2,160
1.2 01l 20,0002 x92 x3% » 128 6.480
02 2 %01t 26,400 28,080 A 1,680
1.2 01| 2200002 «10% <128 26,400
203 P2 EH| 10,080 10,120 40
01 J| 2 2L Y2 FTH| 6.600 6.600 0
1.0l 2 g Ex| 6.600,0002 » 1 6.600
02 HAJtA 2 F=A b 480 520 40
1At 40,0009 * 12 480
04 RARIY2FTL| 3,000 3,000 0
LAY =T 250,0009! <122 3,000
204 Z 24 A 1,800 1,800 0
01 M3 HLLHAY| 1,800 1,800 0
1L EMIHREAY| 1,800
PIR=E 15000024 » 1%« 128 1,800
405 XHakE S 7,866 500 7.366
01 XAt L 2 B3 SH| 7.866 500 7.366
1,519 &K} 96,000 2174 2,016
p.YPEMY 230,000 157 3.450
2. MABOT} 160,000 * 1571 2,400
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SN SHS
M HHSAPH(SHS)
cHel: ol e gyl (el &2
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
(22) 351,825
1.52(3052) 3,698,200 » 1 128 44,379
2.62(2752) 3,149,000 »2H 128 75,576
3.72(15528) 2,369,900& x5 x 122 142,194
4.82(832) 1,726,5002 3« 12& 62,154
5.92 (45 2) 1,302,000 *1H «12& 15,624
6. MM & 339,927,0002 *3.5% 11,898
(Moixg) 43,769
LURERAS 4,010
It53URA(NEE)
3,201, 1002 * 12 *4 1%+ 128 1,575
LHe62UHR(1752)
2,474,300 »2% x4 1%+ 122 2,435
2. 8244 351,825,0002 *1/12 29,319
3.324Y0ta3 10,440
Jt.25H 0] & 130,000 x3% x 122 4,680
Lt.20 0] &~25 012 110,000 1 » 122 1,320
Ct. 1501 4~2014 012 80,0002 »2H » 122 1,920
2t. 1004 ~150/2F 60,0002 1 *122 720
OF.5%101&4~10 012 50,0002 *3% *128 1,800
(OHHERSS) 7,547
101544 5,760
I B X 40,0002 7 128 3,360
LE.DIEDES 20,0002« 10 « 122 2,400
2. NHEHI B RS 1,787
Jb. NS5 446,700« 1 %4 | 1,787
(Ex222Y) 11,760
1.E+224Y 11,760
Jh.Es224E 70,0002 %11« 12& 9,240
Lt. ol g 30,0002 3 128 1,080
CHAISISXIYR4+2 30,0002 *3E *12¢ 1,080
SHAEISXY RS Ita2
30,0002 1 x 128 360
(ZU224H) 38,387
A2 24E 8,078 +33A1 2Hx 12 128 38,387
(AH2AS) 53,903
1. YoM 3 A 130,000 * 12« 12& 18,720
2. 9E SOl 351,825,000 %1.2/12 35,183
204 X R4 AHY| 20,160 17,640 2,520
02 X 38Xl 20,160 17,640 2,520
1. 238Xy 20,160
ot.53 250,000 x 12« 128 3,000
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SH: SHE
HH: HESARY(SHS)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Lt.6= 155,000& »2& » 122 3,720
Ct.72 140,000 »5E x12& 8,400
ct.8~0= 105,000 ~4E «12& 5,040
Jl=2dHl 94,598 94,068 530
Jl=&Hl 94,598 94,068 530
201 2egr2g 48,158 47,288 870
01 A2 2telH] 14,912 14,765 147
(Ler==&Hl) 12,434
1.2 K24 300,000& 12 3,600
2.0HZEEMEES 100,000& =122 1,200
J.EEEJEH/EEY 200,000& 401 ~4=] 3,200
4.01350|el= 20,000% *»2CH*20 x 12 960
5.2MESEIIEH 180,000& +2CH *33! *80% 864
6. ZSENLSEN 64,0002 * 15B0x 960
7.=UEESxz=EsEN 27,0002 *30Box 810
8.3 ¥AAMESFY 20,0003 *32] x 144 A 840
(29+¢) 500
1.d=8 50,000 x1H*10& 500
(2&tl) 5,040
1028 R+dE2 54|
7,000& #5481 x 12«12 5,040
(Ex2) 540
1. 809X = 45,0003 «10H=12& 540
(Ol & & 2F) 18,014,000 & «-20% A3,602
02 32244 33,246 32,523 723
(BZ223LHA) 32,125
1.282 5,325
Jb.dgt 2509 *200H x 128 600
L. S2I 1,750 «25024 * 128 *90% 4,725
2. 8012 2,000,000& 123 24,000
3.4ot=8 170,000& 12 2,040
4. BANERYS(AEEE) 120,000 *23] 240
5. 1SREREs 450,000& * 12 450
6.01EXEERZ 70,0002 *1CH 70
(¢ =Hl) 765
1.3:eXXMEH 3oa (L)
1,300 *4L*3Al 2+ 70 *70% 765
(NEEHlI=Xl) 4,049
1.2AA = 2,000,000& 2,000
2. eSS 300,000& = 1CH 300
3.2AESED 100, 0003 =2CH 200
4.8 50,000& 122 600
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SN
X XH .
S Tt

el

SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2
502X X (S&U,&4l) 20,000 *12& 240
6.2 EOIA|AEIS T2 2=H|
12,1002 *3CH 12 +80% 349
7. XSO AMAIAE KX S 2H]|
30,000& x1CH*12& 360
(Ol AHE 2H) 36,939,000 *-10% AN 3,693
202 (4 Hi 30,240 33,600 A 3,360
01 2L I 6,480 8,640 N2,160
1. = LHO B 20,000 x9 x3H x 12 6,480
02 X0 I 23,760 24,960 A 1,200
1.2 MY 220,000& x9H x12& 23,760
203 PR =2&lb| 11,380 11,380 0
01 D222 =&H| 7,900 7,900 0
1. |22 R=8H| 7,900,000& *14 7,900
02 HR3AJNAE =R 480 480 0
1. 8] R =AY 40,000& x12H 480
04 N2 LAY 3,000 3,000 0
1.2ASHERE=LH| 250,000& x12& 3,000
204 X RHAH| 1,800 1,800 0
01 HEZERHFH| 1,800 1,800 0
1. MBI RFAYI 1,800
.s% 150,000 *1&H 128 1,800
401 AlEHIL 24| 2,500 0 2,500
01 Al&HI 2,500 0 2,500
1 HUHESAHAHA A A 2,500,000 * 14! 2,500
405 XH&HFE S HI 520 0 520
01 AAtE 22 F SHI 520 0 520
1. 9HEI 260, 000& 24 520

_88_




SN

B =Dl oy B (29
el 12 EP)
_ _ _ Muo
CEB L C(BH) - MBAY - BES e HRE2
=2 717,713 690,915 26,798
> BHO £2(2RE8) 127,156 128,540 N1,384
H=2dg 127,156 128,540 N 1,384
PSEN 111,240 113,240 22,000
301 Et2 a3z 111,240 113,240 22,000
05 BEEsEa=S 111,240 113,240 22,000
1. S¢S 108,240
b =g 200,000 «33H «12& 79,200
Lt &= 200,000& «33H »23] 13,200
Ct. slE A= 20,0003 33 »23| x 123 15,840
2. BtE =g 25,0003 60 *23| 3,000
EIPN PRl 2I8Y 13,296 10,680 2,616
201 gt ] 13,296 10,680 2,616
01 AR 2teld| 13,296 10,680 2,616
(LBr=2Hl) 1,440
1. FUXXIME 2] 120,000& 128 1,440
(ol atE2) 1,440,000 »—10% A 144
(2g22¢) 12,000
1. FEXEH S 12,000
b, Jtual(= 25,000%8Al 2t*12& 2,400
L. RJtwal(s 25,000%8Al 2t+12& 2,400
Ct. 28015 25,000%8A] 2t 12& 2,400
et. 2&013(0 25,000%8A] 2t 12 2,400
OF. HAAZ= 25,000%8A1 2t+12& 2,400
Atz X 2tel 2,620 4,620 22,000
307 212+01 A 2,620 2,620 0
05 BIZtR &= 2,620 2,620 0
1. flZdl el == 200,000& «12& 2,400
2. BAMJ|I S EE NS
110,000 100 A +23] 220
HY2IHH(=RS) 590,557 562,375 28,182
QI 2E | 513,506 478,132 35,374
eI 2| 513,506 478,132 35,374
QI24d| 493,766 458,812 34,954
2= 493,766 458,812 34,954
(22) 339,666
1. 52(30&8) 3,698,200 x1H 128 44,379
2. 62(30&8) 3,225,900 x2H 128 77,422
3. 72(1458) 2,313,900 x4~ 128 111,068
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2H: 22
HH: #YLARY(2LS)
& QI 2AY| (ctel: &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
4. 83(623) 1,588,500 *5H x12& 95,310
5. MLIH&HI 328,179,000 x3.5% 11,487
(A0=¢) 42,519
1. 32 4,613
It 42UiR(3028)
3,698,200 x 18 x4 1%+ 12& 1,820
L. 52 UHR (295 S)
3,201, 1003 18 »4 1%+ 12& 1,575
C. 62UR(1788)
2,474,300 x1H *4. 1% 128 1,218
2. dz2=+¢ 339,666,0009 *1/12 28,306
3. E2EHIt3 9,600
Jb. 25 0] & 130,000& x3H 12 4,680
Lt. 15E 01 &~20E 0|2t 80,000 x2H 128 1,920
Ct. 5301 &4~104012F 50,0003 «5F «12& 3,000
(MHAHABEESH) 8,027
1. &5 6,240
Jb. X 40,0003 x8HE «12& 3,840
Lt. JIEMDHS 20,000 *10F =122 2,400
2. AHEHIEEE 1,787
b, DS 446, 7003 »1H x4D| 1,787
(E222¢) 12,480
1. Ex32xd 12,480
. s22=H 70,0003 11H «12& 9,240
Lt QIAARG 30,0003 x3E x12& 1,080
Ct. At3IZ2X 22 30,0002 x4H«12& 1,440
ch. AlRIZXEREotA3
30,0003 x2E*12& 720
(Zn2224) 38,387
1 A2 R 8,078&*33AI2tx 12 123 38,387
(AHI2&S) 52,687
1. dMUZ A 130,000& «12E »12& 18,720
2. BESIHI 339,666,000&*1.2/12 33,967
204 MR HAH| 19,740 19,320 420
02 =22l 19,740 19,320 420
1. Ag2 x| 19,740
Jb. 538 250,000& x1H~12& 3,000
Lt. 62 155,000& »2H «12& 3,720
Ct. 7= 140,000 x4 H « 128 6,720
ct. 8=2~9= 105,000 x5H 12 6,300
Jl2&Hl 77,051 84,243 AT,192
Jl2& | 77,051 84,243 AT,192
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2H: 22
HH: #YLARY(2LS)
&t D=3l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 et A | 34,931 32,603 2,328
01 AR 2t eld| 14,442 14,029 413
(get=2dl) 12,387
1. 242l 300,000& x12H 3,600
2. ZEEJIEYH 220,000& *4CH+53 *80% 3,520
3. ZRlEEH 150,000 *4CH*13] 600
4. 213712l 2 20,0003 1CH#200 123 480
5. BEAESIIEY 180,000& 33! *80% 432
6. ULSHANL=SEX 63,0003 »15B0X 945
7. FRSES==22Z28X 27,0003 *3080X 810
8. SAEX 20, 000& *50B0X*80% 800
9. HHIZLRMRES 100,000 «12& 1,200
(2g22Y) 500
1. =8 ag 50,0003 *1H 10 500
(=dl) 5,040
1. Jl2geassagAy)
7,000& #5412« 122 5,040
(ol arE2) 17,427 ,000& »-20% A3,485
02 2244 20,489 18,574 1,915
(SS23LHA) 16,210
1. RE= 5,640
Jb. et 2503 #2502 * 123 x80% 600
L. Sl 1,750 30021 » 122 *80% 5,040
2. 8dJl= 800, 000 & * 123 x80% 7,680
3. dot=ER= 60,000& 123 720
4. Oibl=2st &8JI=2 150, 000& = 12& *50% 900
5. b= &ot+=E2= 40,000&+12& 480
6. SYHANHLE S 250,000 *1CH 250
7. SYHNEHIMARES 70,000%23] 140
8. SYIHXNESEHHAM==T 50,0002 *23] 100
9. SYEXNENSIHA 40,0002 «1CH 40
10. SEAMAIESSANERES
160, 000& 13| 160
11. SHZFOIENSX 2= 100,000 *13] 100
(A8 & Hl=Xdl) 6,555
1. BAHERXNE = 1,890& x592%80% 896
2. BAESOI 100, 000CH = 1CH 100
3. =Dl 24,9003 =20« 128 598
4. SHIAXNSRFU
200,000 = 1CH 122 *80% 1,920
5. sdEXE=cll 100, 000& *43] 400
6. 2==JIS Kbl 50,0003 *3CH 150
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FH: =22
Y HH2HIH (ZRES)
Sl Jl2dl (&9 HM

X
M- E= . S9l(3) - MR - BAS Abod e HlDE2
7. SOIEOIAIAE S X 22|
12,1002 »2CH x 122 291
8. HEUSHH IR 400,000 *1CH 400
9. =¥&E OIENSX RFU
20,0003 x1CH*12& 240
10. XIZUMAAE SARNESB(EE2E)
30,0003 +1CH+12& 360
11. SZJIRX2e 282 & dIIMER
100,000& = 12& 1,200
(Ol etz 2 22,765,000 *-10% N2,276
202 44| 30,240 36,720 A6,480
01 SLHA b 6,480 8,640 A2,160
1. WAL 20,0003 x9L x3H 123 6,480
02 XN 23,760 28,080 A4,320
2. HAHHYI 220,000& x9H «12& 23,760
203 B2 =&ld| 10,080 10,120 A40
01 JI22F LR F8Y| 6,600 6,600 0
1.0/ 2222 =&| 6,600,000 =14 6,600
02 RIS R F Y| 480 520 240
1. 2RI R FEY| 40,000 x129Y 480
04 EN2ILRFEH| 3,000 3,000 0
1.2M2ZYRF=A| 250,000& = 12& 3,000
204 X 2= A H| 1,800 1,800 0
01 ¥ SHRHAH| 1,800 1,800 0
1. SR 1,800
h.sE 150,000& x1H «12& 1,800
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